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Number of Questions to be attempted : 42

Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870429
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 71087013117 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In which level of teaching, the learner gets an opportunity to discriminate at length between
positive and negative exemplars of concepts?

1. Memory level

2. Understanding level

3. Reflective level

4. Autonomous development level
Options :

71087052081. 1

71087052082. 2

71087052083. 3

71087052084. 4

Question Number : 1 Question Id : 71087013117 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087052081. 1
71087052082. 2
71087052083 3
71087052084 4

Question Number : 2 Question Id : 71087013118 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
During teaching, a teacher's statements that encourage students to elaborate on an answer,
either their own or that of others will be called,

1. Structuring

2. Instructional variety

3. Engagement in the learning process
4. Probing

Options :

71087052085. 1

71087052086. 2

71087052087. 3

71087052088. 4

Question Number : 2 Question Id : 71087013118 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087052085 1
71087052086. 2
71087052087. 3
71087052088. 4

Question Number : 3 Question Id : 71087013119 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following will be called behavioural rather than “attitude and beliefs" related
competencies for becoming an effective teacher?

A. Locus of control

B. Communicating

C. Managing and monitoring

D. Teacher enthusiasm

E. Evaluating and providing feedback

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3. B, Cand E only
4.C, D and E only
Options :
71087052089. 1
71087052090. 2
71087052091. 3
71087052092 4

Question Number : 3 Question Id : 71087013119 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Bad A, B 3R C
2. Pad B, C 3R D
3. PauB, C3RE
4. H3AC, DIARE
Options :
71087052089. 1
71087052090. 2
71087052091. 3
71087052092. 4

Question Number : 4 Question Id : 71087013120 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From the following list of methods of teaching used in institutions of higher learning, identify

those which are learner-centred

A. Project work

B. Chalk and talk

C. Lecturing with audio-visual

D. Computer-aided instruction

E. Simulation and role-playing

Choose the correct answer from the options given below:

1. B, C and D only
2. D and E only

3. A, Band Conly
4.C, D and E only
Options :
71087052093. 1
71087052094. 2
71087052095. 3
71087052096. 4

Question Number : 4 Question Id : 71087013120 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. ®dd B, C 3R D
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3. @A A, B AR C
4.HaAC, D ARE
Options :
71087052093 1
71087052094. 2
71087052095. 3
71087052096. 4

Question Number : 5 Question Id : 71087013121 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

, : l. Percentile rank and standard scores are used
A. Formative Evaluation .
for reporting

B. Summative Evaluation |l. Standards indicative of mastery

C. Criterion-referenced test lll. The intention of using it is to identify scope
and potential for improvement

D. Norm-referenced test IV. Its intention is to judge learning standards

Choose the correct answer from the options given below:

TA-NLB-IV,C-1I,D-1
ZA-1L,B-1L,C-11,D-1IV
3A-ILB-1L,C-1V,D-1I
4 A-IV,B-1I, C-1,D-1
Options :

71087052097. 1
71087052098. 2
71087052099. 3
71087052100. 4

Question Number : 5 Question Id : 71087013121 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. A-lll, B-1V, C-1I, D-I
2. A-l, B-II, C-1II, D-1V
3. A-ll, B-I, C-IV, D-1I
4. A-IV, B-lI, C-1, D-II
Options :
71087052097. 1
71087052098. 2
71087052099. 3
71087052100. 4

Question Number : 6 Question Id : 71087013122 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In using the hypothetico-deductive research paradigm which of the following sequences is
considered appropriate?

1. Hypothesis making, Hypothesis testing, Arriving at generalization and Conclusion

2. Establishing a research problem, Hypothesis making, Hypothesis testing, Arriving at
generalization and Conclusion

3. Hypothesis making, Establishing a research problem, Hypothesis testing, Arriving at
generalization and Conclusion

4. Hypothesis testing, Hypothesis making, Finalizing the research problem, Arriving at
generalization and Conclusion

Options :

71087052101. 1
71087052102. 2
71087052103. 3
71087052104. 4

Question Number : 6 Question Id : 71087013122 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087052101. 1

71087052102. 2




71087052103. 3
71087052104. 4

Question Number : 7 Question Id : 71087013123 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following research procedures will figure under post positivistic approach?

1. Normative survey
2. Experimental study
3. Ethnographic study
4. Ex post facto study
Options :
71087052105. 1
71087052106. 2
71087052107 3
71087052108. 4

Question Number : 7 Question Id : 71087013123 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087052105. 1
71087052106. 2
71087052107. 3
71087052108. 4



Question Number : 8 Question Id : 71087013124 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A college teacher plans a research programme in which he/she intends to improve the socio-
emotional aspect of his/her classroom climate during teaching. Which one of the following
research methods will be considered appropriate in this context?

1. Experimental method

2. Descriptive method

3. Historical method

4. Action research method
Options :

71087052109. 1
71087052110. 2
71087052111. 3
71087052112. 4

Question Number : 8 Question Id : 71087013124 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087052109. 1
71087052110. 2



71087052111. 3
71087052112. 4

Question Number : 9 Question Id : 71087013125 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following steps in research are least vulnerable to research ethics?
A Identifying the research variables

B. Defining the research variables

C. Data collection procedure

D. Data analysis procedure

E. Reporting research outcomes

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. D and E only
Options :
71087052113. 1
71087052114. 2
71087052115. 3
71087052116. 4

Question Number : 9 Question Id : 71087013125 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087052113, 1
71087052114. 2
71087052115. 3
71087052116. 4

Question Number : 10 Question Id : 71087013126 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The personalistic styles of writing a research report are permissible in which of the following
research?

A. Grounded theory research

B. Experimental research

C. Participant-observation based research

D. Historical research

E. Case study research

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.C, D and E only
4. A, Cand E only
Options :
71087052117. 1
71087052118. 2
71087052119. 3
71087052120. 4

Question Number : 10 Question Id : 71087013126 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFrafaRed # 9 g TR & 20y H Ay Ufide oed B HATHHE el & TN 3 A § 2

A. 3eTR® Rigiaqae Ay

B. TGO 1Y
C. G U&ur 3emid iy

D. UfeIf® =y
E. S0P 3iegg oY
i< fgu 71U fodcal 7 © 91 STk &1 98 P ;

1. Bad A, B 3R C
2. Pad B, C 3R D
3. AU C, D 3R E
4, BT A, C 3R E
Options :
71087052117. 1
71087052118. 2
71087052119. 3
71087052120. 4

Sub-Section Number : 2
Sub-Section Id : 710870430
Question Shuffling Allowed : Yes

Question Id : 71087013127 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension



Read the passage carefully and answer the questions that follow

More generally, today's business-to-business marketers are using a wide range of digital and
social marketing approaches from websites, blogs, and smartphone apps to mainstream social
networks such as Facebook, Linkedln, Youtube, and Twitter to reach business customers and
manage customer relationships anywhere, anytime. Digital and social marketing has rapidly
become the new space for engaging business customers. Business-to-business e-procurement
yields many benefits. First, it shaves transaction costs and results in more efficient purchasing
for both buyers and suppliers. E-procurement reduces the time between order and delivery.
And a Web-powered purchasing program eliminates the paperwork associated with traditional
requisition and ordering procedures and helps an organization keep better track of all
purchases. Finally, beyond the cost and time savings, e-procurement frees purchasing people
from a lot of drudgery and paperwork. In turn, it frees them to focus on more strategic issues,
such as finding better supply sources and working with suppliers to reduce costs and develop
new products.

The rapidly expanding use of e-procurement, however, also presents some problems. For
example, at the same time that the Internet makes it possible for suppliers and customers to
share business data and even collaborate on product design, it can also erode decades-old
customer-supplier relationships. Many buyers now use the power of the Internet to pit
suppliers against one another and search out better deals, products, and turnaround times on
a purchase-by-purchase basis.

E-procurement can also create potential security concerns. Although home shopping
transactions can be protected through basic encryption, the secure environment that
businesses need to carry out confidential interactions is sometimes still lacking.

Sub questions

Question Number : 11 Question Id : 71087013128 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

What is the current strategy of business to business managers?

1. Searching for new business space

2. Exploring new customer relations

3. Less dependence on social marketing
4. More and more use of digital business
Options :

71087052121. 1

71087052122. 2

71087052123. 3

71087052124. 4

Question Number : 12 Question Id : 71087013129 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The benefits of e-procurement are

A. Cost reduction

B. Quick delivery

C. Longer time for strategic procurement

D. Empathetic purchase

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087052125. 1



71087052126. 2
71087052127. 3
71087052128. 4

Question Number : 13 Question Id : 71087013130 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What can be a strategic issue as a result of less paperwork?

1. Transaction analysis

2. More investment for supply

3. Development of new products

4. Importance to traditional customer relation
Options :

71087052129. 1

71087052130. 2

71087052131. 3

71087052132. 4

Question Number : 14 Question Id : 71087013131 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What can be the main issue with e-procurement vis-a-vis power of Internet?

1. Different purchases for both buyers and suppliers
2. Sharing business data with customers

3. Competitive supply of products

4. Better purchase deals

Options :

71087052133. 1

71087052134. 2

71087052135.3

71087052136. 4



Question Number : 15 Question Id : 71087013132 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The focus of the passage is on

1. The power of suppliers

2. Basic business data encryption

3. The supply side of business

4. The critical features of e-procurement
Options :

71087052137. 1

71087052138. 2

71087052139. 3

71087052140. 4

Question Id : 71087013127 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension
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Sub questions

Question Number : 11 Question Id : 71087013128 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



IIforT T aTfoTed i 9 TG+ ard UeH®! &1 gaHT- WUHITS ol 82

1. U oG9 54 &I @S Sl

2. 4 JUHGA Taef B dar= &

3. GiEre faUUH WR SfUEdhd & R

4, T&oited coaam™ &1 Siy® ¥ 31Ud U
Options :

71087052121. 1

71087052122. 2

71087052123, 3

71087052124 4

Question Number : 12 Question Id : 71087013129 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
U AH G :
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el fdd e &1 98 DIfo :

1. Hdd A X B
2. ®Had B AR C
3. ®dd C 3R D
4. HadA AR D
Options :
71087052125. 1
71087052126. 2




71087052127. 3
71087052128. 4

Question Number : 13 Question Id : 71087013130 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087052129. 1

71087052130. 2

71087052131. 3

71087052132. 4

Question Number : 14 Question Id : 71087013131 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087052133. 1

71087052134. 2

71087052135, 3

71087052136. 4




Question Number : 15 Question Id : 71087013132 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087052137. 1

71087052138. 2

71087052139. 3

71087052140. 4

Sub-Section Number : 3
Sub-Section Id : 710870431
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 71087013133 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In communication process, when the sender and the receiver interchange their roles in respect
of sending and receiving the message, it is called

1. Universal model

2. Transactional model
3. Singular-flow model
4, Pluralistic model
Options :

71087052141. 1
71087052142. 2
71087052143. 3



71087052144. 4

Question Number : 16 Question Id : 71087013133 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4, 9gadigl Ufdey
Options :
71087052141. 1
71087052142. 2
71087052143. 3
71087052144, 4

Question Number : 17 Question Id : 71087013134 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A teacher who encourages students’ participation in communication will ensure
A. Opposite views

B. Self-esteem

C. Class performance

D. Professional development

E. Binary distractions

Choose the correct answer from the options given below:

1. A, B and C only
2. A, CandE only
3.B,Cand D only
4. A, Dand E only
Options :
71087052145. 1
71087052146. 2
71087052147. 3
71087052148. 4

Question Number : 17 Question Id : 71087013134 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Bad A, B 3R C
2. PAA A, C AR E
3. Had B, C 3R D
4, BT A, D IARE
Options :
71087052145. 1
71087052146. 2
71087052147, 3
71087052148, 4

Question Number : 18 Question Id : 71087013135 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: In group discussions, some participants enter the fray with big chips on their
shoulders

Reason R: These are antagonistic people who are calm and listed

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087052149. 1

71087052150. 2

71087052151. 3

71087052152 4

Question Number : 18 Question Id : 71087013135 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



I & Py U TE B - U 1 3ifHiape (A) 3R G @1 b (R) P61 I ;
HYDHYA (A) : FHE Td1 H $S UgHFN I3 - gt dld dRd & |

dd (R) : T it @0 81d & =il 2Mid SR ufaarg! 8id &

SUYdd Bl B el H Fgiied [deedl H U Halfte Juged S 94 -

1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|

2. (A) ¥R (R) GHI T8I B &R (R), (A) DI Tl SREAT 6l 3|
3. (A) 9BI 8 U (R) el &l B

4. (A) Bl 61 8 U (R) 9Bl 5|

Options :

71087052149. 1

71087052150. 2

71087052151. 3

71087052152. 4

Question Number : 19 Question Id : 71087013136 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Communication Barrier Description

A, Physical |. Different understanding
B. Psychological Il. Stereotypes

C. Language lll. Pre-disposed notions
D. Cultural IV. Inaudible voice

Choose the correct answer from the options given below:

TA-IV,E-N,C-1,D-I
2ZA-ILB-IL,C-1V,D-1
SA-ILB-1L,C-NILD-1V
4A-LB-ILC-1ILD-1V
Options :

71087052153. 1
71087052154. 2
71087052155.3
71087052156. 4

Question Number : 19 Question Id : 71087013136 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gali-1 Dl Fali-11 & oy GAferd o :

gal-| ql-1i

GO ST ICERI

A. RIS REGUEEE]

B. HHIGTI® 1. Tfcag YR
C. HTST Gadi 11. Id Wgd 4RO
D. HiEhidd V. 3T HTdTS
I feu U fashedl © O gel 3R &1 98- & -

1. A-1V, B-1ll, C-1, D-I
2. AL B-1I, C-1V, D-I
3. A-ll, B-1, C-lII, D-1V
4. A-l, B-lI, C-lI, D-1V
Options :
71087052153. 1
71087052154. 2
71087052155.3
71087052156. 4

Question Number : 20 Question Id : 71087013137 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



When communication for educational purpose takes place, the sequence of elements is
A. Source

B. Encoder

C. Message

D. Decoder

E. Feedback

Choose the correct answer from the options given below

1.A B CD,E
2B CDEA
3.CD,EAB
4.D,E B A C
Options :

71087052157. 1
71087052158. 2
71087052159. 3
71087052160. 4

Question Number : 20 Question Id : 71087013137 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



e Q&MU TS g WHINYI BIdT § ol U<l Bl HHBIAI 8 :
A, Fid

B. B¢ qifad

C. T

D. fadis®

£ Bigad®

i f&u U faeedl # @ Uel I &1 98- B -

1.A, B, C, D3RE
2.B,C, D, E3RA
3.C,D,E A3RB
4.D,E B, A3RC
Options :
71087052157. 1
71087052158. 2
71087052159, 3
71087052160. 4

Question Number : 21 Question Id : 71087013138 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A man walks at a speed of 3 km/hour from location A towards east for 1 hour and then turning
left walks at a speed of 1.5 km/hour for 6 hours towards north to a location B. The shortest
distance between locations A and B is

1. 10 km

2. 12 km

3. ~8.54 km
4, ~9.48 km
Options :
71087052161. 1
71087052162. 2
71087052163. 3
71087052164. 4

Question Number : 21 Question Id : 71087013138 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ueh oHfekd I A 9 3 T 9e1 71fd O qRa = # 1 9¢ qob doidl & 99l 39 d1g a1 S 1.5
b 51,/ g1 &1 71 Y IR G2 DI 3R 6 e T ™M B b daidl &1 ®H A 3R B & did i
FaH g & -

1. 10 T Al

2. 12 fp .
3.~ 854 fhdl
4. ~ 9.48 fp oI,
Options :
71087052161. 1
71087052162. 2
71087052163. 3
71087052164. 4

Question Number : 22 Question Id : 71087013139 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The volume of a cube of side 10.0 cm is changed by increasing its sides by 1.0%. The
percentage increase in the volume of the cube is

1. ~1%
2. ~6%
3.~3%
4. ~ 10 %
Options :

71087052165. 1
71087052166. 2
71087052167. 3
71087052168. 4

Question Number : 22 Question Id : 71087013139 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

10.0 AT BT YT dIci U U B G ST Y3 bl 1.0 % ToIdhR dad ol oldl o | 39 9

© gd- | ula=d 3fs g -
1. ~1%
2.~ 6%
3.~3%
4. ~10%
Options :

71087052165. 1
71087052166. 2
71087052167. 3
71087052168. 4



Question Number : 23 Question Id : 71087013140 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Consider the following number series 2, 10, 30, 68, X

What is the term X7

1. 130

2. .92

3.88

4.76

Options :
71087052169. 1
71087052170. 2
71087052171. 3
71087052172. 4

Question Number : 23 Question Id : 71087013140 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ofafag den o1 ) fGaR &
210, 30, 68, X
X @1 HH TR 2

1. 130

2.92

3.88

4.76

Options :
71087052169. 1
71087052170. 2



71087052171. 3
71087052172. 4

Question Number : 24 Question Id : 71087013141 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A household Incurs a certain expenditure on the consumption of a commodity in a given
month. If the price of the commodity is decreased by 20% and its consumption is increased by
20%, what will be the net percent increase or decrease in the expenditure of the household?

1. 2%

2. 4%

3. 8%

4. 10%
Options :
71087052173. 1
71087052174. 2
71087052175.3
71087052176. 4

Question Number : 24 Question Id : 71087013141 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

U3 URAR Us A8 99N H U% a%g & SUaRT IR &idud o0 &l | 3fc 39 a%g @1 H1Ad 20%
T WAl & AR d%] ®I UGN 20% d¢ Idl & df 39 URaR & &g ¥ fova- ufa=id &1 sglall
Gl HH| 8T 7

1. 2%

2. 4%

3. 8%

4. 10%
Options :



71087052173. 1
71087052174. 2
71087052175. 3
71087052176. 4

Question Number : 25 Question Id : 71087013142 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Consider the following letter series. What is next of acf, egj, ikn, ogt,

1. suy

2. uvy

3. rwz

4 uwz
Options :
71087052177. 1
71087052178. 2
71087052179. 3
71087052180. 4

Question Number : 25 Question Id : 71087013142 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fafaRad quf #49 R 3gR SIS ATy @ g 2

acf, eqi, ikn, oqt, ___

1. suy

2. uvy

3. rwz

4 uwz
Options :
71087052177. 1



71087052178. 2
71087052179. 3
71087052180. 4

Question Number : 26 Question Id : 71087013143 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two propositions:

All philosophers are fallible

Socrates is not fallible

In the classical square of opposition, which one of the following is the correct answer?

1. Contrary

2. Contradictory
3. Subalteration
4. Subcontrary
Options :
71087052181. 1
71087052182.2
71087052183. 3
71087052184. 4

Question Number : 26 Question Id : 71087013143 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



e &l a arg fau MU B -

ot erife waRia B & |

YT YA Tl g |

foTy & Fenfa®! avt § Fufafed 3 3 oH-91 98 W B

1. e

2. faemyTt
3. 3UIfsd

4. 3u-fazreh
Options :
71087052181. 1
71087052182. 2
71087052183. 3
71087052184. 4

Question Number : 27 Question Id : 71087013144 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below is a proposition:
‘Mahatma Gandhi is called father of Nation'.
What kind of classical categorical proposition is it?

1. Universal affirmative
2. Particular affirmative
3.Both 1 and 2

4. Neither 1 nor 2
Options :

71087052185. 1



71087052186. 2
71087052187. 3
71087052188. 4

Question Number : 27 Question Id : 71087013144 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Il U ddare fea T g ;

 HETH i B AP el S B

7% Fofated & § oy IR &1 aenfas! FRUg ahare § 2

1. gray iy fGerd®

2. fafey faurars

3.1 3R 2 gH

4.1 3R 2 A Ple o T8
Options :

71087052185. 1
71087052186. 2
71087052187. 3
71087052188. 4

Question Number : 28 Question Id : 71087013145 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following pramanas are accepted by Vaisheshika philosophy?
A. Pratyasha

B. Anumana

C. Sabda

D. Upamana

E. Arthapatti

F. Anupalabdhi

Choose the correct answer from the options given below:

1. A and B only
2.Cand D only
3.Eand F only
4. Cand E only
Options :
71087052189. 1
71087052190. 2
71087052191. 3
71087052192. 4

Question Number : 28 Question Id : 71087013145 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFafeiad # 94 ®H-9 uA 9t o2F H WioR U e § 2

FafaRad & 9 98! SO &1 994 i :

1. &dd A 3R B
2. ®ad C R D
3. Bad E 3R F
4, HadC3RE
Options :
71087052189. 1
71087052190. 2
71087052191. 3
71087052192. 4

Question Number : 29 Question Id : 71087013146 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are accepted in Buddhism?

A. Adhyasa

B. Apoha

C. Abhava

D. Arthapatti

E. Pratyaksha

F. Sabda

Choose the correct answer from the options given below:

1. A and B only
2.Cand D only
3.B and E only
4. E and F only
Options :
71087052193. 1
71087052194. 2
71087052195. 3
71087052196. 4

Question Number : 29 Question Id : 71087013146 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



dig 4 | FafaRed # 9 fo-1ol WieR fearwidaig 2

AL SETH

3. 3{UIE

C. 3{H1d

D. YUk

E. Ue

F. TMoG

FafeRad fasmedl # ¥ UE1 3Tk B I8 DI :

1. &dd A 3R B
2. ®ad C R D
3. Paa B3R E
4 HAAESMRF
Options :
71087052193. 1
71087052194. 2
71087052195. 3
71087052196. 4

Question Number : 30 Question Id : 71087013147 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the nature of a logical argument? Choose the correct answer from the following:

1. Justified or unjustified

2. True or false

3. Valid or invalid

4, Verifiable or not verifiable

Options :

71087052197. 1
71087052198. 2
71087052199. 3
71087052200. 4

Question Number : 30 Question Id : 71087013147 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

dbETTd gida @1 UG &1 gldl ¢ 7 MaikiRgd & 9 981 3wk &1 984 Dy ;

1. g SR R - gEifd
2. Tl 91 7eid

3. 39 T1 33y

4. AU HYdl {1
Options :

71087052197. 1
71087052198. 2
71087052199. 3
71087052200. 4

Sub-Section Number : 4
Sub-Section Id : 710870432
Question Shuffling Allowed : Yes

Question Id : 71087013148 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension



Questions : No
Question Numbers : (31 to 35)
Question Label : Comprehension

Answer the question based on the data contained in the table

The following table embodies the data on vegetable produced year wise in tonne for a
particular district.

Year\Vegetable Potato Tomato Onion
2074 200 50 300
2015 500 70 200
2016 300 40 100
2017 100 80 400
2018 700 70 500
2019 800 a0 600

Sub questions

Question Number : 31 Question Id : 71087013149 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In which year(s) the production of potato is less than that of average production?
A 2016

B. 2014

C. 2015

D. 2017

Choose the correct answer from the options given below

1. A and B only

2. A, B and D only
3. C only

4. Cand D only

Options :

71087052201. 1
71087052202. 2
71087052203. 3
71087052204. 4

Question Number : 32 Question Id : 71087013150 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which year(s) is the production of tomato the least?

1. 2014
2.2017
3. 2019
4. 2016
Options :



71087052205. 1
71087052206. 2
71087052207. 3
71087052208. 4

Question Number : 33 Question Id : 71087013151 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the gross production of vegetables in the year 20187

1. 1270

2. 1275

3. 1260

4. 1280
Options :
71087052209. 1
71087052210. 2
71087052211. 3
71087052212. 4

Question Number : 34 Question Id : 71087013152 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the increase (in percentage) of the total production of vegetable from the year 2018 to
20197

1. 15.7%
2. 16.1%
3. 19.4%
4, 17.2%
Options :
71087052213. 1
71087052214. 2



71087052215. 3
71087052216. 4

Question Number : 35 Question Id : 71087013153 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which year the productivity of vegetable is maximum?

1. 2018

2. 2016

3. 2019

4. 2017
Options :
71087052217. 1
71087052218. 2
71087052219. 3
71087052220. 4

Question Id : 71087013148 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Question Label : Comprehension



frrafafaa aiftre # fFt e fade & sanfea aferat 1t am @ &) S&<dt adfar siwer
fora mar &1 TfereT & U 7T o & SyYR WX uyi 3 Iy it

ay / el T AR B
2014 200 50 300
2015 500 70 200
2016 300 40 100
2017 100 80 400
2018 700 70 500
2019 200 20 &00

Sub questions

Question Number : 31 Question Id : 71087013149 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



forg qu / o1 aul H 1] BT IUTGA IHD G IdIe 8 BH a1 2
A, 2016
B. 2014
C. 2015

D. 2017
e fwea T

1. Had A 3R B
2. AU A, B, D
3. ®adC

4. Had C AR D
Options :
71087052201. 1
71087052202. 2
71087052203. 3
71087052204. 4

Question Number : 32 Question Id : 71087013150 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fg g THIEY & JdIe 998 BH 8 ?

1. 2014
22017
3.2019

4. 2016
Options :
71087052205. 1
71087052206. 2



71087052207. 3
71087052208. 4

Question Number : 33 Question Id : 71087013151 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
a4 2018 H Gieadl BT bd G [l g ?

1. 1270

2. 1275

3. 1260

4. 1280
Options :
71087052209. 1
71087052210. 2
71087052211. 3
71087052212. 4

Question Number : 34 Question Id : 71087013152 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
a9 2018 DI UM TY 2019 H Gleardl & Hal SdIGH H fbd- Widd 1 3fS g 2

1. 15.7 %
2.16.1 %
3.194 %
4.17.2 %
Options :
71087052213. 1
71087052214. 2
71087052215. 3
71087052216. 4



Question Number : 35 Question Id : 71087013153 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
frd ad & Heofl BT JAIGH I Halldd ¢ 2

1. 2018

2. 2016
3.2019

4. 2017
Options :
71087052217. 1
71087052218. 2
71087052219. 3
71087052220. 4

Sub-Section Number : 5
Sub-Section Id : 710870433
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 71087013154 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the full form of the abbreviation CD.ROM?

1. Count Disk Random Only Memory
2. Compact Disk Run Only Memory
3. Compact Disk Read Only Memory
4. Count Disk Raw Only Memory
Options :

71087052221. 1

71087052222. 2

71087052223. 3

71087052224. 4



Question Number : 36 Question Id : 71087013154 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T&U1ER CD-ROM ST R AH F1 5 ?

1. Count Disk Random Only Memory
2. Compact Disk Run Only Memory
3. Compact Disk Read Only Memory
4. Count Disk Raw Only Memory
Options :

71087052221. 1

71087052222. 2

71087052223. 3

71087052224. 4

Question Number : 37 Question Id : 71087013155 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Multimedia comprises of

1. Text and Audio

2. Video and Audio

3. Video only

4, Text, Audio and Video
Options :

71087052225. 1
71087052226. 2
71087052227. 3
71087052228. 4

Question Number : 37 Question Id : 71087013155 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
A HIST H Ueh & -

1. SR 3R il

2. difegar 3R Aitsal

3. ®ad difsdl

4, de, Hifsal AR difsal
Options :

71087052225. 1
71087052226. 2
71087052227. 3
71087052228. 4

Question Number : 38 Question Id : 71087013156 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Information and Communication Technology (ICT) comprises of
A. Online learning

B. Learning through Mobile Application

C. Web based learning

D. All the above

Choose the correct answer from the options given below:

1. A and B only
2. A and C only
3. D only
4. A only
Options :



71087052229. 1
71087052230. 2
71087052231. 3
71087052232. 4

Question Number : 38 Question Id : 71087013156 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

G SR UaR et (og df &) H /ibe g -

A 3Hars A
5. AR HTHRH & J1ed U ey
C. aF YT R

D. Iudad it
el f[ddhed &1 999 Bl -

1. &dd A 3R B
2. Bad A 3R C
3. ®ad D

4, Had A
Options :
71087052229. 1
71087052230. 2
71087052231. 3
71087052232. 4

Question Number : 39 Question Id : 71087013157 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: E-commerce companies require personal data to serve the stakeholders better
Reason R: In this process, privacy may get compromised

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087052233. 1

71087052234. 2

71087052235. 3

71087052236. 4

Question Number : 39 Question Id : 71087013157 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



I &l By RU TN B : U@ @l i@y (a) SR GHR @I dd (R) Pl T & ;

HYDHYA (A) : 3-BIHY DU & RAURD] @I dgaR Tdl UaH B o Aiddid ol I oexd
Bl B

TP (R) : 59 Ufchal # Fodl ¥ THHIA $31 U8 98 dl o
IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|

2. (A) ¥R (R) GHI T8I B &R (R), (A) DI Tl SREAT 6l 3|
3. (A) 981 & TR (R) ¥ol T &

4. (A) Bl 61 8 U (R) 9Bl 5|

Options :

71087052233. 1

71087052234. 2

71087052235. 3

71087052236. 4

Question Number : 40 Question Id : 71087013158 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Python is a/an

A. Programming language

B. Operating system

C. Search engine

D. Snake

Choose the correct answer from the options given below:

1. B only

2. A only

3.B and C only
4. Cand D only
Options :
71087052237. 1
71087052238. 2
71087052239. 3
71087052240. 4

Question Number : 40 Question Id : 71087013158 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



‘Python’ T __ B
A. TR citder

B. ORI FoeA
C. 99 391

D. @®

el [ddcd &1 994 S -

1. 5 B
2. Had A
3. ®HaAAB AR C
4. %ad C AR D

Options :

71087052237. 1
71087052238. 2
71087052239. 3
71087052240. 4

Question Number : 41 Question Id : 71087013159 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of continents in decreasing order of their yearly carbon dioxide
emissions, at present

A. Africa

B. Asia

C. Europe

D. North America

Choose the correct answer from the options given below

1.B,D A C
2B D CA
3.D,B,C A
4.D,C B A
Options :
71087052241.
71087052242.
71087052243.
71087052244.

AW O~

Question Number : 41 Question Id : 71087013159 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FHM H Bl SRS & dld Scvi- & YR TR JA8IGRN & Jal Adile! HH &I UgaH
B ;

A. HIdT
B. U@l

C. RT
D. 33! SHR®T

i< fgu 71U fodcal 7 © 91 STk &1 98 P ;

1.B,D A C
2B D CA
3.D,B,C A
4.D,C B A
Options :

71087052241.
71087052242.
71087052243.
71087052244.

AW O~

Question Number : 42 Question Id : 71087013160 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Millennium Development Goals of Global Partnership for Development envisaged making
available the benefits of new technologies - especially which of the following?

1. Information and Communication
2. Artificial Intelligence

3. Nuclear technology

4. Solid waste treatment technology
Options :

71087052245. 1

71087052246. 2

71087052247. 3

71087052248. 4

Question Number : 42 Question Id : 71087013160 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
f3hT Tq A%® eIl & el [abr T& H faive FafaRad | 9 f- =3 deifieal
1 T el BRET HHBUT 8 ?

1. g1 3R TR

2. DIFAH U

3. AP WA

4. 319 UMY ITAR UIEIFTD]

Options :

71087052245. 1
71087052246. 2
71087052247. 3
71087052248. 4

Question Number : 43 Question Id : 71087013161 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The global emissions (by weight) of following primary pollutants from natural sources are
maximum in the case of

1. Nitric oxide

2. Carbon monoxide
3. Methane

4, Carbon dioxide
Options :
71087052249. 1
71087052250. 2
71087052251. 3
71087052252. 4

Question Number : 43 Question Id : 71087013161 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Uipla® gl @ Fafifad § 3 feg mufie ughe o1 3fe SoeH (MR &1 2fF 9) Faffis g
87

1. ABCH SRS

2. e AFIFEES
3. HiUE

4, TE- SEHTES
Options :
71087052249. 1
71087052250. 2
71087052251. 3
71087052252. 4

Question Number : 44 Question Id : 71087013162 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List Il which contain water pollutants and their sources respectively

List | List 11

Water pollutants Sources

A. Oxygen demanding wastes |l. Mine drainage

Il. Modern washing powders and agriculture run-off
B. Plant nutrients

C. Acids lll. Waste incineration and toxic dumps

D. Polychlorinated
biphenyls(PCBs)

Choose the correct answer from the options given below:

IV. Paper mills and food processing units

TA-IV,E-U,C-1l,D-1
2ZA-IVB-LC-II,D-1
SA-IVB-ILC-1,D-1
4 A-IVB-IIILC-1,D-1
Options :

71087052253. 1
71087052254. 2
71087052255. 3
71087052256. 4

Question Number : 44 Question Id : 71087013162 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gaii-1 Dl Tall-11 & 9y GAfera Hiferd foFH a1 Taughe R 3¢ Fid [GUIU g -

gal-| ql-1l
A, HTEE Ao DI JIT HIad

. @M - 3Udg

1. Y IR graer 3R Bl
B. UTGU UN&dd Sk

111, 3Oy Y& e 3R faurad
C. 371 (U1¥1S) OTe d
D. Uieligaii-cs agtb-gad (U 9|1V, TR fid 3R W g
El) SoRdl
=1 fGu e fa®cal § ¥ TEl IR &1 90 ®e

TA-IV,B-1,C-1I,D-1
2ZA-IV,B-1,C-1I,D-1
3A-IV,B-1I,C-1,D-1I
4 A-IV,B-NIL,C-1,D-1
Options :

71087052253. 1
71087052254. 2
71087052255.3
71087052256. 4

Question Number : 45 Question Id : 71087013163 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Despite increasing vulnerability to natural disasters many communities resist
adopting mitigation programmes and measures

Reason R: Mitigation is often perceived by communities as being incompatible with their
cultural practices

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087052257. 1

71087052258. 2

71087052259. 3

71087052260. 4

Question Number : 45 Question Id : 71087013163 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



I &l By RU TN B : U@ @l i@y (a) SR GHR @I dd (R) Pl T & ;

HYDHYA (A) : Wipldd HTucrei ¥ FHIfdd g @ dgdl SHIEA1SH & iaug D THeA
B HTEHH AR UM B HUTH G T9d §,

dd (R) : THEH THIHRUl ®I U: U] Giehidd TYIsi & TRER - faRie 9Hd 3|
IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|

2. (A) ¥R (R) GHI T8I B &R (R), (A) DI Tl SREAT 6l 3|
3. (A) 981 & TR (R) ¥ol T &

4. (A) Bl 61 8 U (R) 9Bl 5|

Options :

71087052257. 1

71087052258. 2

71087052259. 3

71087052260. 4

Question Number : 46 Question Id : 71087013164 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The first open university in India was established in the year

1. 1980

2. 1982

3. 1985

4. 1986
Options :
71087052261. 1
71087052262. 2
71087052263. 3
71087052264. 4



Question Number : 46 Question Id : 71087013164 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

YRd H Uy gad [Gyfaaag & w91 69 a9 g3 4t 7

1980

1982

1985

1986
Options :
71087052261. 1
71087052262. 2
71087052263. 3
71087052264. 4

W

ol

Question Number : 47 Question Id : 71087013165 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Asynchronous communication takes place through which of the following technologies?
A. Teleconferencing

B. Virtual classroom

C. Video chat

D. Blogs

E. Discussion boards

F. Vlog

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.D, Eand F only
4.C, D and E only
Options :
71087052265. 1
71087052266. 2
71087052267. 3
71087052268. 4

Question Number : 47 Question Id : 71087013165 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFrofefaa o 3 fou TR & 1w @ SuuaIiis Suiyo ufed g s 2
A. CTIDITHIET

B. dg3d FTGEH

c. difgar de

D. ST

£ [ ars

F.dl @

i U 7Y faheul # 9 U5l STk &1 99 Dol -

1. Bad A, B 3R C
2. Pad B, C 3R D
3. PAAD, E 3R F
4. H3AC, DIARE
Options :
71087052265. 1
71087052266. 2
71087052267. 3
71087052268. 4

Question Number : 48 Question Id : 71087013166 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

Stages of value development Exemplification of value formation

, . Choosing and imbibing the values one
A. Stage | - Value collection ,
cherishes

ll. Observing and imitating the adult
B. Stage Il - Value assessment . .
behaviours, particularly parents

C. Stage Il - Value clarification lIl. Predictability of human behaviour is assured
D. Stage IV - Value consclidation IV. Finding out gaps in values preached and
practice

Choose the correct answer from the options given below:

TA-ILBE-IWV, C-1I,D-I
2ZA-IVB-NIL,C-I,D-1
SA-ILB-1L,C-1V,D-1I
4 A-ILB-ILC-1,D-1IV
Options :

71087052269. 1
71087052270. 2
71087052271. 3
71087052272. 4

Question Number : 48 Question Id : 71087013166 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gai-1 § g fadrd & aRull &1 Icoid o, Sdic ai-1l H ged FHiur &1 epidieo faar 1 gl
Gali-1 ! Fali-11 & oy GAferd e :

gal-| gal-1l

A, RO - T ; SR 5

S . Tl sufdd o gl @l g1 SR 38 YT DAl
B.TRUI-Gl: ||l TGP (AR5 AI1-UdT & HagRI &1 Y& =1
I gid- 3R 3BT D0 Bl

@ ; |1, FHd UEER & IR H HId dygar gREd s

D.TUAR:  |Iv. 31 Al a1 Suc foar o @1 81 3R 34 gt
T TP [[oF W A [l 91 el 81, § SR ST

=< fgu 7u [adcal # § Ul SR &1 99 DI : ;

TA-LB-IV,C-1I,D-1
2ZA-IV,B-NILC-1,D-1I
3A-ILB-1L,C-1V,D-1I
4 A-ILB-1I,C-1,D-1IV
Options :

71087052269. 1
71087052270. 2
71087052271. 3
71087052272. 4

Question Number : 49 Question Id : 71087013167 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements related to the Upanishadic tradition
Statement I: Paravidya means knowledge that transcends human experience
Statement Il: Aparavidya means knowledge based on the human experience

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true
Options :

71087052273. 1

71087052274. 2

71087052275. 3

71087052276. 4

Question Number : 49 Question Id : 71087013167 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

JUMYE AR & g e Gl By RN E

Y| : QRIS BT YT 9 I & S 7 & 3yl § W &

HYF-1I : AU BT SAHUG I FH U & Sl A P AHd W 3R B
SWiE B & H1eiE | FHifed G®cdl 8 U T8 3w 94

1. DY | 3R 11 &HT T8l B
2. @Y | 3R || GFl Tad &
3. BYH-1 9 &, foog HYH-11 Tad 2|
4. HYF-1 AT g, foog BYA-11 Gel 2



Options :

71087052273. 1
71087052274. 2
71087052275.3
71087052276. 4

Question Number : 50 Question Id : 71087013168 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following Entries of the Indian Constitution deals with coordination and
determination of standards in institutions for higher education or research or scientific and
technical institutions?

1. Entry 63

2. Entry 64

3. Entry €5

4, Entry 66
Options :
71087052277. 1
71087052278. 2
71087052279. 3
71087052280. 4

Question Number : 50 Question Id : 71087013168 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HRd & dfauH o FafaRaa § 9 foog ufaf® § Sa Riam dwyrsif sryar srgur Swasf siydr
TS IR dd-id! ST § aFo! & 9909 ok FyRu s 3wa § 2

1. Uidi¥ 63

2. UldiY 64

3. UidiY 65

4. Uidfy 66
Options :
71087052277. 1
71087052278. 2
71087052279. 3
71087052280. 4

PART II Persian
Section Id : 710870284
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870434
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 71087013169 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The court language of ;luitisl=n was

1. selgy

2. wiliwgl

3. wilpe

4. uyly
Options :
71087052281. 1
71087052282. 2
71087052283. 3
71087052284. 4

Question Number : 51 Question Id : 71087013169 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The court language of ;luiticl=d was

1. sslgs

2. iliwgl

3. wilpe

4 s
Options :
71087052281. 1
71087052282. 2
71087052283. 3
71087052284. 4

Question Number : 52 Question Id : 71087013170 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



wae s is written from

1. gaily 40 Uy 51
2.9L @ ol
3. Juwly 45 izl
4.z 4 Gl
Options :
71087052285. 1
71087052286. 2
71087052287. 3
71087052288. 4

Question Number : 52 Question Id : 71087013170 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

wae b= is written from

T ol 4 L 5
2. UL a4y Gaily 5l
3. Cuwly 4wzl
4z a4 Jul,)
Options :
71087052285. 1
71087052286. 2
71087052287. 3
71087052288. 4

Question Number : 53 Question Id : 71087013171 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



a49il6 is the book on the subject of

1. ghis
2. Olusl

3. ub
4. Slugll

Options :

71087052289. 1
71087052290. 2
71087052291. 3
71087052292. 4

Question Number : 53 Question Id : 71087013171 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
g9ild is the book on the subject of

1. ghie
2. Sluol

3. ub
4. Slugll

Options :

71087052289. 1
71087052290. 2
71087052291. 3
71087052292. 4

Question Number : 54 Question Id : 71087013172 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



liw pl wlegsl ui was born in

1. oliuilssl

2. olpl

3. oliwsSa=l

4. glagilysl
Options :
71087052293. 1
71087052294. 2
71087052295. 3
71087052296. 4

Question Number : 54 Question Id : 71087013172 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
liw pl legsl i was born in

1. olivsilssl

2. olpl

3. ULu.uiL::-Ll

4. glouily sl
Options :
71087052293. 1
71087052294. 2
71087052295. 3
71087052296. 4

Question Number : 55 Question Id : 71087013173 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ojtis g 30 oliwls was composed by

1. & paic

2. g0

3. Bypzele

4. glopll s
Options :
71087052297. 1
71087052298. 2
71087052299. 3
71087052300. 4

Question Number : 55 Question Id : 71087013173 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ojuie g gju gliwls was composed by

1. Gpaic

2. Lwgl o

3. S)pzeie

4. glojl 21
Options :
71087052297. 1
71087052298. 2
71087052299. 3
71087052300. 4

Question Number : 56 Question Id : 71087013174 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



S paic was born in

Options :

71087052301. 1
71087052302. 2
71087052303. 3
71087052304. 4

Question Number : 56 Question Id : 71087013174 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

S paic was born in

2. 2,

3.yl

4 ajjc
Options :
71087052301. 1
71087052302. 2
71087052303. 3
71087052304. 4

Question Number : 57 Question Id : 71087013175 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The author of ol gil=lis

1. ush gl yuai aslss
2. pawls helg =

3. 3030 gl JUz

4. saslpl - Gowl dazo
Options :

71087052305. 1
71087052306. 2
71087052307. 3
71087052308. 4

Question Number : 57 Question Id : 71087013175 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The author of sl A=l is

1. Gwgb gl juai azlgs
2. pawls helg o=

3. dazme ol Ji=

= ,5__1__51'-|_]_g| CH IR1:J_T-r_u.;.l| dozza
Options :

71087052305. 1
71087052306. 2
71087052307. 3
71087052308. 4

Question Number : 58 Question Id : 71087013176 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



SV 5y Bs o 5l gslg) is the original name of

1. Gdwzs Al
2. Jil= gulsl
3. 5ol Gu=l
4. liwylg
Options :
71087052309. 1
71087052310. 2
71087052311. 3
71087052312. 4

Question Number : 58 Question Id : 71087013176 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
GV o800 o 5l malgl is the original name of

1. s G
2. = A=l
3. spoli Gil=l
4. oliwlg
Options :
71087052309. 1
71087052310. 2
71087052311. 3
71087052312. 4

Question Number : 59 Question Id : 71087013177 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



1ilg> e dedicated his laalldsg) to

T Ll g o lad
2. ljpe 2z ol

3. $Aib e oli Culgo
4. Gilgisui Gle ol
Options :
71087052313. 1
71087052314. 2
71087052315.3
71087052316. 4

Question Number : 59 Question Id : 71087013177 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
1ilg= e dedicated his laalldng) to

T Ll g ool
2. e 20l

3. 528 pouw olin Dulgo
4. wilgdyuis e pol
Options :
71087052313. 1
71087052314. 2
71087052315. 3
71087052316. 4

Question Number : 60 Question Id : 71087013178 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



03133 2u,)li of Légius alllia> contains

ool 2l g delde Sy
2.2l Hlgz 5 0180 Sy
3. ol v g delis Sy
4. 0l dw g 40is Sy
Options :

71087052317. 1
71087052318. 2
71087052319. 3
71087052320. 4

Question Number : 60 Question Id : 71087013178 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
02033 #u,li of égiue allliaz contains

1ol 7 g 2eide Sy
2. ol gz 5 d00ie S
3. ol L g ide Sy
4 0l dw g 40i1ie Sy
Options :

71087052317. 1
71087052318. 2
71087052319.3
71087052320. 4

Question Number : 61 Question Id : 71087013179 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



G @S Cou Spw zad ) 5d Sligw al) Cowd Jo 4 53 a5 A4d 38w p)C gad
This couplet was composed by

1. iy wilo
2. il nbye
3. suhi

4. sglas Jaw
Options :
71087052321. 1
71087052322. 2
71087052323. 3
71087052324. 4

Question Number : 61 Question Id : 71087013179 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

G @S Cia Syw gad o 8d Sligw b, oty 3 4 53 aS b 8w 0)C gzad
This couplet was composed by

1. s wile
2. Sl e
3. suhi

4. selnsy Jow
Options :
71087052321. 1
71087052322. 2
71087052323. 3
71087052324. 4



Question Number : 62 Question Id : 71087013180 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
alll Las pllaiy wrote fulgill gol> on the order of

1. Ulj' ,|'_;.|_']|_{',

2. ;lzaSula

3. )gaui pol

4. ljyepmisly
Options :
71087052325. 1
71087052326. 2
71087052327. 3
71087052328. 4

Question Number : 62 Question Id : 71087013180 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
alll Las il wrote fulgill gol> on the order of

1. L'Jl:'r ,J|_J|_C

2. ;=S

3. j3adi jiol

4. e ymily
Options :
71087052325. 1
71087052326. 2
71087052327. 3
71087052328. 4

Question Number : 63 Question Id : 71087013181 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



wit > Slollhc was the brother of

1. 2dg plely

2. dll L il
3. wilhyawl pall e
Options :
71087052329. 1
71087052330. 2
71087052331. 3
71087052332. 4

Question Number : 63 Question Id : 71087013181 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
wit g Slollhe was the brother of

1. g pllclg

2. dlll Juas ol

3. oishyiwl | Gums

= Ulg__.!_'l\_._l_?LAﬂ Joro ,J_I_'LJI L_;.,.ug.v.u
Options :

71087052329. 1

71087052330. 2

71087052331. 3

71087052332. 4

Question Number : 64 Question Id : 71087013182 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



wilblS adiiz=e was the court poet of

1. cuwlagh ol
2. e ol

3. Jastauwl ol
4. e 2 yoli
Options :
71087052333. 1
71087052334. 2
71087052335.3
71087052336. 4

Question Number : 64 Question Id : 71087013182 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
wililS adii=e was the court poet of

1. u.;.ul.a.g_b 8 L
2. U.uLm oo

3. ol ol
4 e 2 0L
Options :
71087052333. 1
71087052334.2
71087052335. 3
71087052336. 4

Question Number : 65 Question Id : 71087013183 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



wils S $g=la> was the disciple of

1. woiliaw o bl piilg=
2. iliaw alglcMe

3. g Rl Clga
4, salasy iz

Options :

71087052337. 1
71087052338. 2
71087052339. 3
71087052340. 4

Question Number : 65 Question Id : 71087013183 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
wile S $g=la= was the disciple of

1. woiliow o pil p&ilg>
2. (piliaw algallclle

3. 6)gygu | wlga
4, 3l Jui=

Options :

71087052337. 1
71087052338. 2
71087052339. 3
71087052340. 4

Question Number : 66 Question Id : 71087013184 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The patron of Gilwlys el was

1. Suiz da=a cpill slA;
2. Slall slac

3. Slall e

4. azls pall poli
Options :

71087052341. 1
71087052342. 2
71087052343. 3
71087052344. 4

Question Number : 66 Question Id : 71087013184 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The patron of (uilwlys ol pw was

1. $uiz da=a cpill oA
2. Slall slac

3. Slall pc

4. azlis guall joli
Options :

71087052341. 1
71087052342. 2
71087052343. 3
71087052344. 4

Question Number : 67 Question Id : 71087013185 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Srolb Glids was dedicated to

1. azls pall poli
2. ol

3. 3gazo pAl poli
4. pzls Gl JU
Options :
71087052345. 1
71087052346. 2
71087052347. 3
71087052348. 4

Question Number : 67 Question Id : 71087013185 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
S ol Gléds was dedicated to

1. azlis guall joli
2. i

3. 3gaze pAl foli
4. s gl JU>
Options :
71087052345. 1
71087052346. 2
71087052347. 3
71087052348. 4

Question Number : 68 Question Id : 71087013186 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



cpasdl 5148 s4iis was composed by order of

1. Lass ol 320

2. ol= sy

3. b

4. 3gaz0 pAll poli
Options :
71087052349. 1
71087052350. 2
71087052351. 3
71087052352. 4

Question Number : 68 Question Id : 71087013186 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
cHdasud| 548 seile was composed by order of

T. LasS pall jme

2. L'Jl:'r |_]_?_|

3. oy

4. s3gaz0 pAl ol
Options :
71087052349. 1
71087052350. 2
71087052351. 3
71087052352. 4

Question Number : 69 Question Id : 71087013187 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Junallgsl was born in

1. 1555 A.D.

2. 1558 AD.

3. 1551 AD.
4. 1550 A.D.
Options :
71087052353. 1
71087052354. 2
71087052355.3
71087052356. 4

Question Number : 69 Question Id : 71087013187 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Juaallgsl was born in

1. 1555 A.D.

2. 1558 A.D.

3. 1551 A.D.
4. 1550 A.D.
Options :
71087052353. 1
71087052354. 2
71087052355. 3
71087052356. 4

Question Number : 70 Question Id : 71087013188 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ruallpalib is the title of

1. (riud lgad
2. ibs olls
3. wid S

4. e oldye
Options :
71087052357. 1
71087052358. 2
71087052359. 3
71087052360. 4

Question Number : 70 Question Id : 71087013188 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
awallpalib is the title of

1. noud glgad
2. ke oS
3. Lrwid ,ai].ﬁ

4. ulhe Slhe
Options :
71087052357. 1
71087052358. 2
71087052359. 3
71087052360. 4

Question Number : 71 Question Id : 71087013189 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Faizi was died in

1. 1590 A.D.
2. 1595 AD.
3. 1599 AD.
4. 1598 A.D.
Options :
71087052361.
71087052362.
71087052363.
71087052364.

AW N =

Question Number : 71 Question Id : 71087013189 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Faizi was died in

1. 1590 A.D.
2. 1595 A.D.
3. 1599 AD.
4. 1598 A.D.
Options :
71087052361.
71087052362.
71087052363.
71087052364.

AW N~

Question Number : 72 Question Id : 71087013190 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



pa% g 3L o8 @Sy 55 @S e gl
a1gd b g 3lgi @S5 dai 0MS 13
Above mentioned 81L.n8 was composed by

1. oL pS1 730 3 i

2. oLib ole auddlpl 2as )3 550ab
3. pabw oaljali 7ae )5 oyc

4. 5lg= olib 710 33 el wLillb
Options :

71087052365. 1

71087052366. 2

71087052367. 3

71087052368. 4

Question Number : 72 Question Id : 71087013190 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
paxi g 3l 0B 4 )5 &S e pho

Aigd i g olgi 28 2ai 0MS 103
Above mentioned s11n6 was composed by

1. oLispSl 720 o (i

2. ol Jole audlpl poe 3o $y0gb
3. pabw osliali 7ae )y (noye

4, 5laz olis 720 3 el lb
Options :

71087052365. 1

71087052366. 2

71087052367 3



71087052368. 4

Question Number : 73 Question Id : 71087013191 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
< plilg> Sjeiis written by

T suyle Gl @ pb

2. 6:Syi glj @ pSilg>
3. izl gl @ S

4. Guyls bj 4 1 Silg=
Options :

71087052369. 1
71087052370. 2
71087052371. 3
71087052372. 4

Question Number : 73 Question Id : 71087013191 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
spSilg= Sjei is written by

Toeuyls plj a pl

2. Sy glj u )Silg=
3. Szl gl 4 sl

4 Guylbs gbj 4 ) Silg=
Options :

71087052369. 1
71087052370. 2
71087052371. 3
71087052372. 4



Question Number : 74 Question Id : 71087013192 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
o rolmall 8,515 was written by

1. guiig> puld pulyai

2. Ll 3,0

3. iz wle i

4. gi)l g5 e ol 2l
Options :

71087052373. 1
71087052374. 2
71087052375. 3
71087052376. 4

Question Number : 74 Question Id : 71087013192 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
o2 rolsall 8,515 was written by

1. eSuig= yuls pulyai

2. e b0

3. pim wle i

4. 5yl gl e a2l
Options :

71087052373. 1
71087052374. 2
71087052375. 3
71087052376. 4

Question Number : 75 Question Id : 71087013193 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Isami composed his Futuhus Salatin for:

2. illS 3game dzlgs
3. d.J.?.J (Hda=a
Options :
71087052377. 1
71087052378. 2
71087052379. 3
71087052380. 4

Question Number : 75 Question Id : 71087013193 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Isami composed his Futuhus Salatin for:

1. sl P s ,_}_IJJ|:ELL{,
2. S dgazmo azxlgs

3. d.J.‘iLJ (M la=a

Options :

71087052377. 1
71087052378. 2
71087052379. 3
71087052380. 4

Question Number : 76 Question Id : 71087013194 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



doli ;pags was composed by

1.uUjT

E.QJHE Jgamo

3. rig))B daze

4. )zl ol gac
Options :
71087052381. 1
71087052382. 2
71087052383. 3
71087052384. 4

Question Number : 76 Question Id : 71087013194 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
doli pags was composed by

1.UU§T

2. olgl® sgaze

3. big)ild daze

4. sygalow Ml e
Options :
71087052381. 1
71087052382. 2
71087052383. 3
71087052384. 4

Question Number : 77 Question Id : 71087013195 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



232 ¢ Jlisl is the work of

1. (pma (i8>

2. jLisl g pl

3. sg)d wlsll e
4. = sl e
Options :
71087052385. 1
71087052386. 2
71087052387. 3
71087052388. 4

Question Number : 77 Question Id : 71087013195 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
25> g Jlial is the work of

1. (pRa 55

2. jLisl g pl

3. orgsd wlgll e
4 bz pSlele
Options :
71087052385. 1
71087052386. 2
71087052387. 3
71087052388. 4

Question Number : 78 Question Id : 71087013196 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



o gl wle zis was the famous jB5 sanai of

1. 51516 395

2. gzl b)90
3. S3iic b))
4. syonlb 8yq
Options :
71087052389. 1
71087052390. 2
71087052391.3
71087052392. 4

Question Number : 78 Question Id : 71087013196 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
e ol wlo zis was the famous 155 sauad of

1. 5515 8)92

2. 3ozl )95
3. SsliE b9
4. snlb 8yg
Options :
71087052389. 1
71087052390. 2
71087052391. 3
71087052392. 4

Question Number : 79 Question Id : 71087013197 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



"Jlog s sgiia” of il JLog is in the style of

1. gpu=

2. oy

3. gl o

4. rouo
Options :
71087052393. 1
71087052394. 2
71087052395. 3
71087052396. 4

Question Number : 79 Question Id : 71087013197 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
"Jlog o seiie" of il JLog is in the style of

1. gju>

2. oy

3. g

4. (roud
Options :
71087052393. 1
71087052394. 2
71087052395. 3
71087052396. 4

Question Number : 80 Question Id : 71087013198 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The name of Lilgawol blai is

1. wilblb juws A
3. ulsglluc s

4 cw> e

Options :
71087052397. 1
71087052398. 2
71087052399. 3
71087052400. 4

Question Number : 80 Question Id : 71087013198 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The name of Luilgawl bl is

1. wiliblb juws 3w
2. wloaw oz Jiw
4w ljpe

Options :
71087052397. 1
71087052398. 2
71087052399. 3
71087052400. 4

Question Number : 81 Question Id : 71087013199 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



wanls 2o, was edited by

1. lg sadl Slo
2. oliaicl gy
3. e z pl

4. silgawsl blag
Options :
71087052401. 1
71087052402. 2
71087052403. 3
71087052404. 4

Question Number : 81 Question Id : 71087013199 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
wanl 2o )5 was edited by

1. le sl Slo
2. paliaicl ogy

3. e z 0l

4. ilgawsl blag
Options :
71087052401. 1
71087052402. 2
71087052403. 3
71087052404. 4

Question Number : 82 Question Id : 71087013200 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



wighV awlillgl was died at

71087052405. 1
71087052406. 2
71087052407. 3
71087052408. 4

Question Number : 82 Question Id : 71087013200 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
wighl awldllel was died at

71087052405. 1
71087052406. 2
71087052407. 3
71087052408. 4

Question Number : 83 Question Id : 71087013201 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



law b =y is a poetic collection of

1. 83l guble Sidbgn
2. Spjc dazl

3. 03lj)les oyl
4. s=5]) aablo
Options :
71087052409. 1
71087052410. 2
71087052411. 3
71087052412. 4

Question Number : 83 Question Id : 71087013201 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

law b sy is a poetic collection of

1. 03lj)gile Biign
2. e dazl

3. 03lj)les oyl
4. y=5]) aabls
Options :
71087052409. 1
71087052410. 2
71087052411. 3
71087052412. 4

Question Number : 84 Question Id : 71087013202 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Poem Jigc3 was composed by

1. 03lj;las oalb

2. wilwls Guivs

3. sag)la) Bawgs Gl
4. BB jlzdluc
Options :

71087052413. 1
71087052414. 2
71087052415.3
71087052416. 4

Question Number : 84 Question Id : 71087013202 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Poem Jigcy was composed by

1. 03lj) s ol

2. wilols Gae

3. Bag)le)d Ggwge e
4. BB =l
Options :

71087052413. 1
71087052414. 2
71087052415. 3
71087052416. 4

Question Number : 85 Question Id : 71087013203 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A poem consisting of three hemistichs per strophe is called

1. haws

2. plass

3. &uye
Options :
71087052417. 1
71087052418. 2
71087052419. 3
71087052420. 4

Question Number : 85 Question Id : 71087013203 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A poem consisting of three hemistichs per strophe is called

1. hauwe

2. et

3. 70
Options :
71087052417. 1
71087052418. 2
71087052419. 3
71087052420. 4

Question Number : 86 Question Id : 71087013204 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



One of the books of Shibli Nomani is

1. le Bsb
2. sl

3. j3g3 £b

4, guifind
Options :
71087052421. 1
71087052422. 2
71087052423. 3
71087052424. 4

Question Number : 86 Question Id : 71087013204 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

One of the books of Shibli Nomani is

1. e ,Bsl
2. il

3. 5292 gL

4, guiluns
Options :
71087052421. 1
71087052422. 2
71087052423. 3
71087052424. 4

Question Number : 87 Question Id : 71087013205 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



1iSae LUlS> sz ol jl slin
1S o CuylSub lgailaz g
The above couplet is in

1. Wgize yulus Zid 2
2. bglze yulue Joy o
3. Wbglzo ulws j7) p
4. WBglmo s a8
Options :

71087052425. 1
71087052426. 2
71087052427. 3
71087052428. 4

Question Number : 87 Question Id : 71087013205 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
1iSee TulSs a2 i I adin

1S e S Lguilaz g
The above couplet is in

1. WDgizo puluie zib jou
2. ogime e Joj jo
3. Bglme pwlue jz) 2
4, Oglmo e a8 =
Options :

71087052425. 1
71087052426. 2
71087052427. 3



71087052428. 4

Question Number : 88 Question Id : 71087013206 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

wwgdd composed his asliss Liv in which of the following meters?

1. Jom6 oloss plomo glyms
2. lomo oloms ploms olons

3. Jom plnitue Glomb plniis
4. yl=e Hlcls ylcls lows
Options :

71087052429. 1

71087052430. 2

71087052431. 3

71087052432. 4

Question Number : 88 Question Id : 71087013206 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

wwgi e composed his 4o litn Liv in which of the following meters?

1. Jom6 plams olamé glons

2. oo lamo plamo lgms

3. o lmaiume lend pldiue
4 l=e plelo illels lgms
Options :

71087052429. 1

71087052430. 2

71087052431. 3

71087052432. 4



Question Number : 89 Question Id : 71087013207 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

alaz Judi ol is situated at

1. plgaol

2. ol

3. 3l

4 i

Options :
71087052433. 1
71087052434. 2
71087052435. 3

71087052436. 4

Question Number : 89 Question Id : 71087013207 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

algz i olawe is situated at

1. ulgaol

2. e

3. 3l

4 o8

Options :
71087052433. 1
71087052434. 2
71087052435. 3

71087052436. 4

Question Number : 90 Question Id : 71087013208 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Jow Jaady bydaw is associated with

1. jagd oz
2. 63w i

3. By =
4. pag e
Options :
71087052437. 1
71087052438. 2
71087052439. 3
71087052440. 4

Question Number : 90 Question Id : 71087013208 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
o J1ad 83840 is associated with

1. jgygd i
2. 03uw pi

3. oByge ez
4. pic uc
Options :
71087052437. 1
71087052438. 2
71087052439. 3
71087052440. 4

Question Number : 91 Question Id : 71087013209 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Ethical book of Persian are

A Lisds alluw,

B. doli (i

C. pdwzs FA=|

D. (A= 5=l

E. srol gilsl

Choose the correct answer from the options given below:

1. A, B and C only
2.C, D and E only
3. A, Band Conly
4. B and E only
Options :
71087052441. 1
71087052442. 2
71087052443. 3
71087052444. 4

Question Number : 91 Question Id : 71087013209 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Ethical book of Persian are

A Lisds alluw,

B. doli (i

C. pdwzs FA=|

D. (A= 5=l

E. srol gilsl

Choose the correct answer from the options given below:

1. A, B and C only
2.C, D and E only
3. A, Band Conly
4. B and E only
Options :
71087052441. 1
71087052442. 2
71087052443. 3
71087052444. 4

Question Number : 92 Question Id : 71087013210 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Important historical Books of Sultanat period are

A. yilall zls

B. Lt Linjgpae 2u)li

C. 5ol Olaub

D. wall g,

E. syl olab

Choose the correct answer from the options given below:

1.C, D and E only
2. A and D only

3. A, B and D only
4. A Band Conly
Options :
71087052445. 1
71087052446. 2
71087052447. 3
71087052448. 4

Question Number : 92 Question Id : 71087013210 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Important historical Books of Sultanat period are

A. yilall zls

B. Lt Linjgpae 2u)li

C. 5ol Olaub

D. wall g,

E. syl olab

Choose the correct answer from the options given below:

1.C, D and E only
2. A and D only

3. A, B and D only
4. A Band Conly
Options :
71087052445. 1
71087052446. 2
71087052447. 3
71087052448. 4

Question Number : 93 Question Id : 71087013211 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Famous characters of shahnama are

A Oluwlysl

B. i)

C. )baiswl

D. g

. Ll

Choose the correct answer from the options given below:

1. A, B and C only
2.C, D and E only
3. B and D only

4. Cand D only
Options :
71087052449. 1
71087052450. 2
71087052451. 3
71087052452. 4

Question Number : 93 Question Id : 71087013211 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Famous characters of shahnama are

A Oluwlysl

B. i)

C. )baiswl

D. g

. Ll

Choose the correct answer from the options given below:

1. A, B and C only
2.C, D and E only
3. B and D only

4. Cand D only
Options :
71087052449. 1
71087052450. 2
71087052451. 3
71087052452. 4

Question Number : 94 Question Id : 71087013212 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



il wwelS s has produced ol gilsg which deals about
A ply

B. 1_L.I_:. Lﬁ_i_ml

C. oS0 plg=)sd
D. 5l 635 wlc
Choose the correct answer from the options given below:

1. C only
2. A only
3. B only
4. D only
Options :
71087052453. 1
71087052454. 2
71087052455. 3
71087052456. 4

Question Number : 94 Question Id : 71087013212 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



il wwelS s has produced ol gilsg which deals about
A ply

B. 1_L.I_:. Lﬁ_i_ml

C. oS0 plg=)sd
D. 5l 635 wlc
Choose the correct answer from the options given below:

1. C only
2. A only
3. B only
4. D only
Options :
71087052453. 1
71087052454. 2
71087052455. 3
71087052456. 4

Question Number : 95 Question Id : 71087013213 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Among the following Prose works authored by sl are
A plgill mazes

B. juwiMll Sl=ai

C. Olalll asuil

D. L wil ol
Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. B and D only
Options :
71087052457. 1
71087052458. 2
71087052459. 3
71087052460. 4

Question Number : 95 Question Id : 71087013213 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Among the following Prose works authored by sl are
A plgill mazes

B. juwiMll Sl=ai

C. Olalll asuil

D. L wil ol
Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. B and D only
Options :
71087052457. 1
71087052458. 2
71087052459. 3
71087052460. 4

Question Number : 96 Question Id : 71087013214 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Among the following masnavis, composed by y=glw ;lalw are
A s> g Apiaz

B. asli 3l)0

C. 5Ll sgaze

D. jdiaw g )3l

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and C only
Options :
71087052461. 1
71087052462. 2
71087052463. 3
71087052464. 4

Question Number : 96 Question Id : 71087013214 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Among the following masnavis, composed by y=glw ;lalw are
A s> g Apiaz

B. asli 3l)0

C. 5Ll sgaze

D. jdiaw g )3l

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and C only
Options :
71087052461. 1
71087052462. 2
71087052463. 3
71087052464. 4

Question Number : 97 Question Id : 71087013215 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ksl has praised

A jgali sl
B. ljye 2ty

C. gleui oL

D. gl o i
Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. B and D only
Options :
71087052465. 1
71087052466. 2
71087052467. 3
71087052468. 4

Question Number : 97 Question Id : 71087013215 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ksl has praised

A jgali sl
B. ljye 2ty

C. gleui oL

D. gl o i
Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. B and D only
Options :
71087052465. 1
71087052466. 2
71087052467. 3
71087052468. 4

Question Number : 98 Question Id : 71087013216 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The asli jlic are composed by

A Gdlye polly=e
B. wilSly auc

C. L_F_:.H_II_L.LL.LI _JI_ELL

D. pg) iVga
Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and C only
Options :
71087052469. 1
71087052470. 2
71087052471. 3
71087052472. 4

Question Number : 98 Question Id : 71087013216 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The asli jlic are composed by

A Gdlye polly=e
B. wilSly auc

C. L_F_:.H_II_L.LL.LI _JI_ELL

D. pg) iVga
Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and C only
Options :
71087052469. 1
71087052470. 2
71087052471. 3
71087052472. 4

Question Number : 99 Question Id : 71087013217 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Ol giis written by jUnce are

A asli jlizs

B. bl ghis

D. g2 i g
Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087052473. 1
71087052474. 2
71087052475. 3
71087052476. 4

Question Number : 99 Question Id : 71087013217 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Ol giis written by jUnce are

A asli jlizs

B. bl ghis

D. g2 i g
Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087052473. 1
71087052474. 2
71087052475. 3
71087052476. 4

Question Number : 100 Question Id : 71087013218 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are the names of sisw ;lg
AL bzl dhuug

C. Olub

D. suilg=
Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087052477. 1
71087052478. 2
71087052479. 3
71087052480. 4

Question Number : 100 Question Id : 71087013218 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are the names of sisw ;lg
AL bzl dhuug

C. Olub

D. suilg=
Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087052477. 1
71087052478. 2
71087052479. 3
71087052480. 4

Question Number : 101 Question Id : 71087013219 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The chapters of ;liwl among the following are

A Glail g Jac >

B. pling)y U=l 5o

C. Cuuyi wll o

D. Gy il o

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087052481. 1
71087052482. 2
71087052483 3
71087052484. 4

Question Number : 101 Question Id : 71087013219 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The chapters of ;liwl among the following are

A Glail g Jac >

B. pling)y U=l 5o

C. Cuuyi wll o

D. Gy il o

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087052481. 1
71087052482. 2
71087052483 3
71087052484. 4

Question Number : 102 Question Id : 71087013220 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



o yall Ll 7 i is written by
A jhpsuS w Spas

B. clgl ;pdl sla &

C. Sptio Loy il pg e Jpa>
D. il wall 3326 O o=

E. sinadi pdlelypy O pas
Choose the correct answer from the options given below:

1. A and C only
2. B and D only
3. A and D only
4. B and D only
Options :
71087052485. 1
71087052486. 2
71087052487. 3
71087052488. 4

Question Number : 102 Question Id : 71087013220 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



o yall Ll 7 i is written by
A jhpsuS w Spas

B. clgl ;pdl sla &

C. Sptio Loy il pg e Jpa>
D. il wall 3326 O o=

E. sinadi pdlelypy O pas
Choose the correct answer from the options given below:

1. A and C only
2. B and D only
3. A and D only
4. B and D only
Options :
71087052485. 1
71087052486. 2
71087052487. 3
71087052488. 4

Question Number : 103 Question Id : 71087013221 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Contemporary poets of hal> was

Al GileyS azla=

B. brglw glaliw

C. auddsrlac

D. giiz=s JlaS

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087052489. 1
71087052490. 2
71087052491. 3
71087052492. 4

Question Number : 103 Question Id : 71087013221 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Contemporary poets of hal> was

Al GileyS azla=

B. brglw glaliw

C. auddsrlac

D. giiz=s JlaS

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087052489. 1
71087052490. 2
71087052491. 3
71087052492. 4

Question Number : 104 Question Id : 71087013222 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The history book written by .=l pall 2UAi is known as
A spsl olash

B. sS1 Dilmilg

C. syl 4ils

D. wall g,

E. ol Sl Olads

Choose the correct answer from the options given below:

1. D and E only
2.Cand D only
3.B and C only
4. A and E only
Options :
71087052493. 1
71087052494. 2
71087052495. 3
71087052496. 4

Question Number : 104 Question Id : 71087013222 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The history book written by .=l pall 2UAi is known as
A spsl olash

B. sS1 Dilmilg

C. syl 4ils

D. wall g,

E. ol Sl Olads

Choose the correct answer from the options given below:

1. D and E only
2.Cand D only
3.B and C only
4. A and E only
Options :
71087052493. 1
71087052494. 2
71087052495. 3
71087052496. 4

Question Number : 105 Question Id : 71087013223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Inscriptions of ;luiis =& were discovered at
A oleys Cuby oz GBI, adw) Gl dites Cusi

B. Jgun , p=iwl il i

C. eVgl> , auwnls ,gilae ,iglai

D.‘_'J|_;..g_'|'.r:l_ib_a3_t&" LTI _;.|_]J._.u_|

Choose the correct answer from the options given below:

1. A and B only
2. B only

3. A and C only
4. D only
Options :
71087052497. 1
71087052498. 2
71087052499. 3
71087052500. 4

Question Number : 105 Question Id : 71087013223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Inscriptions of ;luiis =& were discovered at
A oleys Cuby oz GBI, adw) Gl dites Cusi

B. Jgun , p=iwl il i

C. eVgl> , auwnls ,gilae ,iglai

D.‘_'J|_;..g_'|'.r:l_ib_a3_t&" LTI _;.|_]J._.u_|

Choose the correct answer from the options given below:

1. A and B only
2. B only

3. A and C only
4. D only
Options :
71087052497. 1
71087052498. 2
71087052499. 3
71087052500. 4

Question Number : 106 Question Id : 71087013224 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Choose the correct option

A ol = sols

B. yids #ob — ilSul

C. gy 1y — (ritiolzn

D. b yudnyl = Golwlw

Choose the correct answer from the options given below:

1. Cand D only
2. A and C only
3. A and D only
4. A only
Options :
71087052501. 1
71087052502. 2
71087052503. 3
71087052504. 4

Question Number : 106 Question Id : 71087013224 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Choose the correct option

A ol = sols

B. yids #ob — ilSul

C. gy 1y — (ritiolzn

D. b yudnyl = Golwlw

Choose the correct answer from the options given below:

1. Cand D only
2. A and C only
3. A and D only
4. A only
Options :
71087052501. 1
71087052502. 2
71087052503. 3
71087052504. 4

Question Number : 107 Question Id : 71087013225 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Select the works edited by Allama Mohd Qazvini
A ése Sl LU
B. )ail ylgud

C. Sgi%a (Sgils

D. dlés ,lg=

Choose the correct answer from the options given below:

1. A and D only
2. A and C only
3.B and C only
4. A and B only

Options :

71087052505. 1
71087052506. 2
71087052507 3
71087052508. 4

Question Number : 107 Question Id : 71087013225 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Select the works edited by Allama Mohd Qazvini
A ése Sl LU
B. )ail ylgud

C. Sgi%a (Sgils

D. dlés ,lg=

Choose the correct answer from the options given below:

1. A and D only
2. A and C only
3.B and C only
4. A and B only

Options :

71087052505. 1
71087052506. 2
71087052507 3
71087052508. 4

Question Number : 108 Question Id : 71087013226 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Select the contemporary poets from the following
A silals auls
B. solny Jow

C. 32355 wilio

Choose the correct answer from the options given below:

1. B and C only
2. B and D only
3. A and C only
4. A and D only
Options :
71087052509. 1
71087052510. 2
71087052511. 3
71087052512. 4

Question Number : 108 Question Id : 71087013226 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Select the contemporary poets from the following
A silals auls
B. solny Jow

C. 32355 wilio

Choose the correct answer from the options given below:

1. B and C only
2. B and D only
3. A and C only
4. A and D only
Options :
71087052509. 1
71087052510. 2
71087052511. 3
71087052512. 4

Question Number : 109 Question Id : 71087013227 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Select the contemporary poets from the following
A silpn Jlle

C. St pw _J—u_‘tl_i

D. n:_SB_J.C&J LJ_LI_I
Choose the correct answer from the options given below:

1. A and B only
2. A and B only
3. A and D only
4. A and C only
Options :
71087052513. 1
71087052514. 2
71087052515. 3
71087052516. 4

Question Number : 109 Question Id : 71087013227 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Select the contemporary poets from the following
A silpn Jlle

C. St pw _J—u_‘tl_i

D. n:_SB_J.C&J LJ_LI_I
Choose the correct answer from the options given below:

1. A and B only
2. A and B only
3. A and D only
4. A and C only
Options :
71087052513. 1
71087052514. 2
71087052515. 3
71087052516. 4

Question Number : 110 Question Id : 71087013228 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Select the Ol gals written in Persian from the following
A slgallaslge

8. pullzallis

C. o Linjgpo )i

D. guilwd

Choose the correct answer from the options given below:

1. B and C only
2. A and D only
3.Cand D only
4. A and B only
Options :
71087052517. 1
71087052518. 2
71087052519. 3
71087052520. 4

Question Number : 110 Question Id : 71087013228 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Select the Ol gals written in Persian from the following
A slgallaslge

8. pullzallis

C. o Linjgpo )i

D. guilwd

Choose the correct answer from the options given below:

1. B and C only
2. A and D only
3.Cand D only
4. A and B only
Options :
71087052517. 1
71087052518. 2
71087052519. 3
71087052520. 4

Question Number : 111 Question Id : 71087013229 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Translation from Sanskrit in Akbar's time are

Al asli 53

B. il uyls

C. ljol 3=

D. Junallgsl bl

Choose the correct answer from the options given below:

1. Cand D only
2. A and B only
3. A and C only
4. B and D only
Options :
71087052521. 1
71087052522. 2
71087052523. 3
71087052524. 4

Question Number : 111 Question Id : 71087013229 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Translation from Sanskrit in Akbar's time are

Al asli 53

B. il uyls

C. ljol 3=

D. Junallgsl bl

Choose the correct answer from the options given below:

1. Cand D only
2. A and B only
3. A and C only
4. B and D only
Options :
71087052521. 1
71087052522. 2
71087052523. 3
71087052524. 4

Question Number : 112 Question Id : 71087013230 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Qasida — writers of Mughal period are
A, Jusl
B. o Lusis

C. wlole Lk

Choose the correct answer from the options given below:

1. Cand D only
2. A and B only
3. B and D only
4. A and D only
Options :
71087052525. 1
71087052526. 2
71087052527. 3
71087052528. 4

Question Number : 112 Question Id : 71087013230 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Qasida — writers of Mughal period are
A, Jusl
B. o Lusis

C. wlole Lk

Choose the correct answer from the options given below:

1. Cand D only
2. A and B only
3. B and D only
4. A and D only
Options :
71087052525. 1
71087052526. 2
71087052527. 3
71087052528. 4

Question Number : 113 Question Id : 71087013231 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Famous Persian poets of Deccan are
A sad Sla

. Sguigo 1_IJJCL0
D. i jw wle ol
Choose the correct answer from the options given below:

1. A, B and C only
2. B and D only

3. A and C only

4. A, B and D only
Options :
71087052529. 1
71087052530. 2
71087052531. 3
71087052532. 4

Question Number : 113 Question Id : 71087013231 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Famous Persian poets of Deccan are
A sad Sla

. Sguigo 1_IJJCL0
D. i jw wle ol
Choose the correct answer from the options given below:

1. A, B and C only
2. B and D only

3. A and C only

4. A, B and D only
Options :
71087052529. 1
71087052530. 2
71087052531. 3
71087052532. 4

Question Number : 114 Question Id : 71087013232 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Select the Tazkia writers from the following
Al sogc
B. e

C. iz wle b

D. kol

E. ol 3L sl

Choose the correct answer from the options given below:

1. A, B and D only
2. B, D and E only
3. A, CandE only
4. A, Dand E only
Options :
71087052533. 1
71087052534. 2
71087052535. 3
71087052536. 4

Question Number : 114 Question Id : 71087013232 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Select the Tazkia writers from the following
Al sogc
B. e

C. iz wle b

D. kol

E. ol 3L sl

Choose the correct answer from the options given below:

1. A, B and D only
2. B, D and E only
3. A, CandE only
4. A, Dand E only
Options :
71087052533. 1
71087052534. 2
71087052535. 3
71087052536. 4

Question Number : 115 Question Id : 71087013233 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Poets laureate of Akbar's court are

Al s

B. siguie e

C. Spraiils (nic

D. (it

Choose the correct answer from the options given below:

1. B and D only
2. A and B only
3. A and C only
4. B and C only
Options :
71087052537. 1
71087052538. 2
71087052539. 3
71087052540. 4

Question Number : 115 Question Id : 71087013233 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Poets laureate of Akbar's court are

Al s

B. siguie e

C. Spraiils (nic

D. (it

Choose the correct answer from the options given below:

1. B and D only
2. A and B only
3. A and C only
4. B and C only
Options :
71087052537. 1
71087052538. 2
71087052539. 3
71087052540. 4

Question Number : 116 Question Id : 71087013234 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List I
B. =0 1. 3zl azill gl
C. Sgzgio . s awlall ol
D. -‘_,r\_.';.:IJ__\::.I_‘I V. -JJ.C L'._LLLT-‘-'\'_” ot

Choose the correct answer from the options given below:

TL.A-NLB-IV,C-IIl,D-1I
A-LB-IL,C-,D-1IV
A-IVB-NLC-1L,D-1
A-NLB-ILC-IV,D-1

L P

[

Options :

71087052541. 1
71087052542. 2
71087052543. 3
71087052544. 4

Question Number : 116 Question Id : 71087013234 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List I
B. =0 1. 3zl azill gl
C. Sgzgio . s awlall ol
D. -‘_,r\_.';.:IJ__\::.I_‘I V. -JJ.C L'._LLLT-‘-'\'_” ot

Choose the correct answer from the options given below:

TL.A-NLB-IV,C-IIl,D-1I
A-LB-IL,C-,D-1IV
A-IVB-NLC-1L,D-1
A-NLB-ILC-IV,D-1

L P

[

Options :

71087052541. 1
71087052542. 2
71087052543. 3
71087052544. 4

Question Number : 117 Question Id : 71087013235 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11
A lay . asli Cusl
B. $jlz== 1azo Il oLy S
C.aly 746 §a40 1. Lad
D. liz=ts V. 305 salgd

Choose the correct answer from the options given below:

T.A-ILB-IILC-1,D-1IV
A-LB-Il,C=II,D-1IV
A-ILB-ILC-IV,D-1
A-IVB-ILC=IL,D-1
Options :

71087052545. 1
71087052546. 2
71087052547. 3
71087052548. 4

Lo

[

Question Number : 117 Question Id : 71087013235 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11
A lay . asli Cusl
B. $jlz== 1azo Il oLy S
C.aly 746 §a40 1. Lad
D. liz=ts V. 305 salgd

Choose the correct answer from the options given below:

T.A-ILB-IILC-1,D-1IV
A-LB-Il,C=II,D-1IV
A-ILB-ILC-IV,D-1
A-IVB-ILC=IL,D-1
Options :

71087052545. 1
71087052546. 2
71087052547. 3
71087052548. 4

Lo

[

Question Number : 118 Question Id : 71087013236 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11
A. 5l ygui L plo
B. g I = Vs
C. uiigs Layi . Siaw g 4otz
D. |10 z IV. Lgos] sl

Choose the correct answer from the options given below:

T.A-IV.B-IL,C-I,D-1I
A-LB-Il,C-,D-IV
A-NLBE-IV,C=1,D-1I
A-ILB-ILC-IV,D -1
Options :

71087052549. 1
71087052550. 2
71087052551. 3
71087052552. 4

Lo

[

Question Number : 118 Question Id : 71087013236 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11
A. 5l ygui L plo
B. g I = Vs
C. uiigs Layi . Siaw g 4otz
D. |10 z IV. Lgos] sl

Choose the correct answer from the options given below:

T.A-IV.B-IL,C-I,D-1I
A-LB-Il,C-,D-IV
A-NLBE-IV,C=1,D-1I
A-ILB-ILC-IV,D -1
Options :

71087052549. 1
71087052550. 2
71087052551. 3
71087052552. 4

Lo

[

Question Number : 119 Question Id : 71087013237 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il
A. gS1Lo> . liawg|
B. ol pwivgil 1. slo
C. Jivg)eS 1. il b
D. Cui) V. (itiolza

Choose the correct answer from the options given below:

T.A-NLB-1I,C-1,D-1IV
A-ILB-ILC-IV,D-1
A-LB-NLC=1,D-1V
A-IVB-ILC=1,D-1I
Options :

71087052553. 1
71087052554. 2
71087052555. 3
71087052556. 4

L P

[

Question Number : 119 Question Id : 71087013237 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il
A. gS1Lo> . liawg|
B. ol pwivgil 1. slo
C. Jivg)eS 1. il b
D. Cui) V. (itiolza

Choose the correct answer from the options given below:

T.A-NLB-1I,C-1,D-1IV
A-ILB-ILC-IV,D-1
A-LB-NLC=1,D-1V
A-IVB-ILC=1,D-1I
Options :

71087052553. 1
71087052554. 2
71087052555. 3
71087052556. 4

L P

[

Question Number : 120 Question Id : 71087013238 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il
A. el g . el Slaall s
B. iy )8 Il. ;g
C. gylwlys aslijg, . (pduine
D. a=c 3lic 4alijg) V. $jlpi gl ySilg>

Choose the correct answer from the options given below:

T.A-IV.B-IL,C-I,D-1I
A-NILB-ILC-IV,D-1
A-ILB-LC=IV, D-1lI
A-LB-NLC-I,D-1IV
Options :

71087052557. 1
71087052558. 2
71087052559. 3
71087052560. 4

Lo

=

Question Number : 120 Question Id : 71087013238 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il
A. el g . el Slaall s
B. iy )8 Il. ;g
C. gylwlys aslijg, . (pduine
D. a=c 3lic 4alijg) V. $jlpi gl ySilg>

Choose the correct answer from the options given below:

T.A-IV.B-IL,C-I,D-1I
A-NILB-ILC-IV,D-1
A-ILB-LC=IV, D-1lI
A-LB-NLC-I,D-1IV
Options :

71087052557. 1
71087052558. 2
71087052559. 3
71087052560. 4

Lo

=

Question Number : 121 Question Id : 71087013239 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il
A. ylhc . aali Jubs
B. wilSly auc . aali i
C. vrilw jlal . aslislyo
D. ol V. ;38w aslizy=

Choose the correct answer from the options given below:

T.A-IV.B-IL,C-I,D-1I
A-NLB-IL,C-1,D-1IV
A-LB-Il,C=II,D-1IV
A-Il,B-IV,C-I,D-1
Options :

71087052561. 1
71087052562. 2
71087052563. 3
71087052564. 4

L

=

Question Number : 121 Question Id : 71087013239 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il
A. ylhc . aali Jubs
B. wilSly auc . aali i
C. vrilw jlal . aslislyo
D. ol V. ;38w aslizy=

Choose the correct answer from the options given below:

T.A-IV.B-IL,C-I,D-1I
A-NLB-IL,C-1,D-1IV
A-LB-Il,C=II,D-1IV
A-Il,B-IV,C-I,D-1
Options :

71087052561. 1
71087052562. 2
71087052563. 3
71087052564. 4

L

=

Question Number : 122 Question Id : 71087013240 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il
A. LiSilg= 0, . 3l alllue
B. 2,5l gols I bgiuso dlll1a>
C. obog gu,li . iz gz Slo Une
D. 61033 2u,li V. all Las gl

Choose the correct answer from the options given below:

T.A-LB-I,C-1,D-1V
A-ILBE-IL,C=IV,.D-1ll
A-NILB-IV,C-1,D-1l
A-IVB-ILC=IL,D-1
Options :

71087052565. 1
71087052566. 2
71087052567. 3
71087052568. 4

A

[

Question Number : 122 Question Id : 71087013240 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il
A. LiSilg= 0, . 3l alllue
B. 2,5l gols I bgiuso dlll1a>
C. obog gu,li . iz gz Slo Une
D. 61033 2u,li V. all Las gl

Choose the correct answer from the options given below:

T.A-LB-I,C-1,D-1V
A-ILBE-IL,C=IV,.D-1ll
A-NILB-IV,C-1,D-1l
A-IVB-ILC=IL,D-1
Options :

71087052565. 1
71087052566. 2
71087052567. 3
71087052568. 4

A

[

Question Number : 123 Question Id : 71087013241 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 1l
A glyl . 3]
B. oliwsuzli . duising>
C. yliwilssl .zl
D. oliwsy;! V. 16 you

Choose the correct answer from the options given below:

T.A-LB-I,C-1,D-1V
A-ILBE-IL,C=IV,.D-1ll
A-IVB-ILC-1,D-1I
A-NLB-LC=1,D-1IV
Options :

71087052569. 1
71087052570. 2
71087052571. 3
71087052572. 4

Lo

[

Question Number : 123 Question Id : 71087013241 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 1l
A glyl . 3]
B. oliwsuzli . duising>
C. yliwilssl .zl
D. oliwsy;! V. 16 you

Choose the correct answer from the options given below:

T.A-LB-I,C-1,D-1V
A-ILBE-IL,C=IV,.D-1ll
A-IVB-ILC-1,D-1I
A-NLB-LC=1,D-1IV
Options :

71087052569. 1
71087052570. 2
71087052571. 3
71087052572. 4

Lo

[

Question Number : 124 Question Id : 71087013242 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List Il (Persian newspapers published outside Persia)

List | List Il
A il . auihiblig (Constantinople)
B. o5il6 I, 4SS
C. piall Ji= . il
D.Ly V. 8,al5 (Cairo)

Choose the correct answer from the options given below:

T.A-LB-I,C-1,D-1V
2ZA-LB-NLC-ILD-IV
3A-LB-IV.C-II,D-1N
4 A-1LB-ILC-IV,D-1
Options :

71087052573. 1
71087052574. 2
71087052575. 3
71087052576. 4

Question Number : 124 Question Id : 71087013242 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List Il (Persian newspapers published outside Persia)

List | List Il
A il . auihiblig (Constantinople)
B. o5il6 I, 4SS
C. piall Ji= . il
D.Ly V. 8,al5 (Cairo)

Choose the correct answer from the options given below:

T.A-LB-I,C-1,D-1V
2ZA-LB-NLC-ILD-IV
3A-LB-IV.C-II,D-1N
4 A-1LB-ILC-IV,D-1
Options :

71087052573. 1
71087052574. 2
71087052575. 3
71087052576. 4

Question Number : 125 Question Id : 71087013243 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11
A Sy syl 8ol sl L Hoge pres
B. wilgisl L Lls Il sl aclyo guaulsdl guj
C. s dy0 . (nilsyS a3y Lwiniw
D. wile liwls V. nils azlis jam= 150

Choose the correct answer from the options given below:

T.A-I,B-I,C=-IV,D-1l
A-LB-Il,C=II,D-1IV
A-IVB-ILC=IL,D -1
A-ILBE-IL,C=IV,D-1I
Options :

71087052577. 1
71087052578. 2
71087052579. 3
71087052580. 4

Lo

=

Question Number : 125 Question Id : 71087013243 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11
A Sy syl 8ol sl L Hoge pres
B. wilgisl L Lls Il sl aclyo guaulsdl guj
C. s dy0 . (nilsyS a3y Lwiniw
D. wile liwls V. nils azlis jam= 150

Choose the correct answer from the options given below:

T.A-I,B-I,C=-IV,D-1l
A-LB-Il,C=II,D-1IV
A-IVB-ILC=IL,D -1
A-ILBE-IL,C=IV,D-1I
Options :

71087052577. 1
71087052578. 2
71087052579. 3
71087052580. 4

Lo

=

Question Number : 126 Question Id : 71087013244 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

A Sy gt le i

8. alll Ly s

C. wlos glyz pillai azlg=

D. el piwmlluc ol

Choose the correct answer from the options given below:

1. A CBD
2D,BCA
3B.CAD

4. C, A B D
Options :
71087052581. 1
71087052582. 2
71087052583. 3
71087052584. 4

Question Number : 126 Question Id : 71087013244 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

A Sy gt le i

8. alll Ly s

C. wlos glyz pillai azlg=

D. el piwmlluc ol

Choose the correct answer from the options given below:

1. A CBD
2D,BCA
3B.CAD

4. C, A B D
Options :
71087052581. 1
71087052582. 2
71087052583. 3
71087052584. 4

Question Number : 127 Question Id : 71087013245 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following chronologically as per their period of life

A ad Sla

B. g >yl

C. selas Jaw

D. sjlpun bye

E. 33 e

Choose the correct answer from the options given below:

1.A B CED
2D A CD,E
3EDACEB
4.B,D,A CE
Options :
71087052585. 1
71087052586. 2
71087052587. 3
71087052588. 4

Question Number : 127 Question Id : 71087013245 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following chronologically as per their period of life

A ad Sla

B. g >yl

C. selas Jaw

D. sjlpun bye

E. 33 e

Choose the correct answer from the options given below:

1.A B CED
2D A CD,E
3EDACEB
4.B,D,A CE
Options :
71087052585. 1
71087052586. 2
71087052587. 3
71087052588. 4

Question Number : 128 Question Id : 71087013246 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

A oLV oL

B. sl 8,54

C. ppawlsll Oloye

Choose the correct answer from the options given below:

1.B,C,A D
2CBAD
3.A,B,CD
4.D,C B A
Options :
71087052589. 1
71087052590. 2
71087052591. 3
71087052592. 4

Question Number : 128 Question Id : 71087013246 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

A oLV oL

B. sl 8,54

C. ppawlsll Oloye

Choose the correct answer from the options given below:

1.B,C,A D
2CBAD
3.A,B,CD
4.D,C B A
Options :
71087052589. 1
71087052590. 2
71087052591. 3
71087052592. 4

Question Number : 129 Question Id : 71087013247 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Sultans ruled in the following order

A b pudl Sle glalw

B. Swl pil uibhs ;lalw

C. glai olinjg e

D. Jiaill ol jued olnlw

Choose the correct answer from the options given below:

1.B,A D, C
2.B, DA C
3.D,B A C
4.C, B, A D
Options :
71087052593. 1
71087052594. 2
71087052595. 3
71087052596. 4

Question Number : 129 Question Id : 71087013247 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Sultans ruled in the following order

A b pudl Sle glalw

B. Swl pil uibhs ;lalw

C. glai olinjg e

D. Jiaill ol jued olnlw

Choose the correct answer from the options given below:

1.B,A D, C
2.B, DA C
3.D,B A C
4.C, B, A D
Options :
71087052593. 1
71087052594. 2
71087052595. 3
71087052596. 4

Question Number : 130 Question Id : 71087013248 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following chronologically

AL aslipsl

B. Lt linygpu6 2yl

C. guifw>

D. ilall zli

Choose the correct answer from the options given below:

1. A BCD
2CADB
3.B.D, A C
4.D,B A, C
Options :
71087052597. 1
71087052598. 2
71087052599. 3
71087052600. 4

Question Number : 130 Question Id : 71087013248 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following chronologically

AL aslipsl

B. Lt linygpu6 2yl

C. guifw>

D. ilall zli

Choose the correct answer from the options given below:

1. A BCD
2CADB
3.B.D, A C
4.D,B A, C
Options :
71087052597. 1
71087052598. 2
71087052599. 3
71087052600. 4

Question Number : 131 Question Id : 71087013249 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

A Sglas jlongo

B. glsi jlanga

C. uzlz jlango

D. la s3g) flanga

Choose the correct answer from the options given below:

1. A CBD
2CABD
3.D,CAB
4B, C A D
Options :
71087052601.
71087052602.
71087052603.
71087052604.

AW O~

Question Number : 131 Question Id : 71087013249 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

A Sglas jlongo

B. glsi jlanga

C. uzlz jlango

D. la s3g) flanga

Choose the correct answer from the options given below:

1. A CBD
2CABD
3.D,CAB
4B, C A D
Options :
71087052601.
71087052602.
71087052603.
71087052604.

AW O~

Question Number : 132 Question Id : 71087013250 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in chronological order

A sagas e

B. b

C. wlal Ll

D. wilwls aulS

Choose the correct answer from the options given below:

1.B,C,A D
2.D,CBA
3.A,D,B,C
4. A B, C D
Options :
71087052605.
71087052606.
71087052607.
71087052608.

AW O~

Question Number : 132 Question Id : 71087013250 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in chronological order

A sagas e

B. b

C. wlal Ll

D. wilwls aulS

Choose the correct answer from the options given below:

1.B,C,A D
2.D,CBA
3.A,D,B,C
4. A B, C D
Options :
71087052605.
71087052606.
71087052607.
71087052608.

AW O~

Question Number : 133 Question Id : 71087013251 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in chronological order
A, pivedlgs ol

B. jlas Jul (p wiglimy

C. Culyac

D. (ilolw Justauwl
Choose the correct answer from the options given below:

1. A BCD
2ACBD
3.A,D,B,C

4. A, B, D, C
Options :
71087052609. 1
71087052610. 2
71087052611. 3
71087052612. 4

Question Number : 133 Question Id : 71087013251 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in chronological order
A, pivedlgs ol

B. jlas Jul (p wiglimy

C. Culyac

D. (ilolw Justauwl
Choose the correct answer from the options given below:

1. A BCD
2ACBD
3.A,D,B,C

4. A, B, D, C
Options :
71087052609. 1
71087052610. 2
71087052611. 3
71087052612. 4

Question Number : 134 Question Id : 71087013252 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following chronologically
A, aucal alkis

B. (8 pilo gy

C. uSog)

Choose the correct answer from the options given below:

1.ACDB
2A DB C
3.A,B,CD
4 A C B D

Options :

71087052613. 1
71087052614. 2
71087052615. 3
71087052616. 4

Question Number : 134 Question Id : 71087013252 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following chronologically
A, aucal alkis

B. (8 pilo gy

C. uSog)

Choose the correct answer from the options given below:

1.ACDB
2A DB C
3.A,B,CD
4 A C B D

Options :

71087052613. 1
71087052614. 2
71087052615. 3
71087052616. 4

Question Number : 135 Question Id : 71087013253 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

A Sgdo Jioawl ol

B. wwlagh ol

C. pwbe ol

D. edo sl

Choose the correct answer from the options given below:

1. A DBC

2 A B CD
3A,CBD

4. A, C DB
Options :
71087052617. 1
71087052618. 2
71087052619. 3
71087052620. 4

Question Number : 135 Question Id : 71087013253 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

A Sgdo Jioawl ol

B. wwlagh ol

C. pwbe ol

D. edo sl

Choose the correct answer from the options given below:

1. A DBC

2 A B CD
3A,CBD

4. A, C DB
Options :
71087052617. 1
71087052618. 2
71087052619. 3
71087052620. 4

Question Number : 136 Question Id : 71087013254 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: g olinpS| shsaldl Sls ulgl olis naud

Reason R: 831 s2giie Jlje olipsS] shmall Slo gl a5 1)

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R in NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087052621. 1

71087052622. 2

71087052623. 3

71087052624. 4

Question Number : 136 Question Id : 71087013254 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: g olinpS| shsaldl Sls ulgl olis naud

Reason R: 831 s2giie Jlje olipsS] shmall Slo gl a5 1)

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R in NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087052621. 1

71087052622. 2

71087052623. 3

71087052624. 4

Question Number : 137 Question Id : 71087013255 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: 5gl [in5i @ |y julslell auii gj)] ol ode il zlnw
Reason R: 350 o b5 5o Iy i Jas a4l & G p iz e Slalyicl wlg= j3 ol

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R in NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087052625. 1

71087052626. 2

71087052627. 3

71087052628. 4

Question Number : 137 Question Id : 71087013255 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: 5gl [in5i @ |y julslell auii gj)] ol ode il zlnw
Reason R: 350 o b5 5o Iy i Jas a4l & G p iz e Slalyicl wlg= j3 ol

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R in NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087052625. 1

71087052626. 2

71087052627. 3

71087052628. 4

Question Number : 138 Question Id : 71087013256 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: 3,5 Ui ) ooy gbls wle all dwl ljue
Reason R: L disigi ghls olay §3 diz Galabidl p s of

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R in NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087052629. 1

71087052630. 2

71087052631. 3

71087052632. 4

Question Number : 138 Question Id : 71087013256 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: 3,5 Ui ) ooy gbls wle all dwl ljue
Reason R: L disigi ghls olay §3 diz Galabidl p s of

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R in NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087052629. 1

71087052630. 2

71087052631. 3

71087052632. 4

Question Number : 139 Question Id : 71087013257 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Statement | and the other is labelled as
Statement Il

Statement I: Cuwl (oo gl pollinai azles daudsg 1o s s asles Oras
Statement II: 1 03w Sl @ oy )5 gl gwd aslys
In the light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement Il is true
Options :

71087052633. 1

71087052634. 2

71087052635. 3

71087052636. 4

Question Number : 139 Question Id : 71087013257 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Statement | and the other is labelled as
Statement Il

Statement I: Cuwl (oo gl pollinai azles daudsg 1o s s asles Oras
Statement II: 1 03w Sl @ oy )5 gl gwd aslys
In the light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement Il is true
Options :

71087052633. 1

71087052634. 2

71087052635. 3

71087052636. 4

Question Number : 140 Question Id : 71087013258 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Statement | and the other is labelled as
Statement Il

Statement I: “uwl Gewlih Sww $agas jlgs Bgyme il
Statement II: "Ciwwi ilpui dqame Pl Mazwll maa uai
In the light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement Il is true
Options :

71087052637. 1

71087052638. 2

71087052639. 3

71087052640. 4

Question Number : 140 Question Id : 71087013258 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Statement | and the other is labelled as
Statement Il

Statement I: “uwl Gewlih Sww $agas jlgs Bgyme il
Statement II: "Ciwwi ilpui dqame Pl Mazwll maa uai
In the light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement Il is true
Options :

71087052637. 1

71087052638. 2

71087052639. 3

71087052640. 4

Sub-Section Number : 2
Sub-Section Id : 710870435
Question Shuffling Allowed : Yes

Question Id : 71087013259 Question Type : COMPREHENSION Sub Question Shuffling Allowed
Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension

: Yes Group Comprehension



Read the following passage and answer questions 91 to 95

sy S nitio [ QL%LJLI.‘-MJ' I._S_]_.l| ol ﬂjjﬂrrﬂbj U wglpd 45 ,_'J.|_;.__l_| vwlaz QU.JMJ 32
oliwl g Iy ailuwsl b )b @ilsg p Iy plils 5 gloluiug )3 j553e Dolsm jl Gy a5 il 0awmsS
b lwl ol jl Ul Jlal g yugsls yg3u38 g ez (Sal 218 Grhie gluiielsd 4 bgiye sl
g8l 5l a5 (pgw yinga)ls) g shbs Bl ah)ls glwi aiS Sy=lge aid g glpl g Sytive g ol
Wl S Gl i€ w1 .ye5 Crwsais y2iSal 5l 4 Cuwl GUhls Shls 1 Guni Ll 595 Cruwsis
Wiz 5 gbS &)l gad 55 Wl L GG I oy o Gz, uly Sl Dlegis 1 iy

Crwl 00 0l glS )l gad 5> Guld €ab 5558 ¢ sl g giu g 3283

Sub questions

Question Number : 141 Question Id : 71087013260 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ablls slyls means

1. pgw slyls

2. Jgl slyls

3. y2sS

4. 58,3
Options :
71087052641. 1
71087052642. 2
71087052643. 3
71087052644. 4

Question Number : 142 Question Id : 71087013261 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



94 310 g Jwita> belong to

1. @Sy sublwl jolzal

2. wilig spblwl sl

3. wulyl sublul ol

4. solwl 3y )b polzwl
Options :

71087052645. 1

71087052646. 2

71087052647. 3

71087052648. 4

Question Number : 143 Question Id : 71087013262 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Alexander defeated

1. gl slyl>

2. pg3 ushyls

3. poguw sl
4. Aile>
Options :
71087052649. 1
71087052650. 2
71087052651. 3
71087052652. 4

Question Number : 144 Question Id : 71087013263 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In Shahnameh of Firdousi, there is no reference to

1. wilip olabisl

2. writis = olalasl
3. LS gllgyileys
4. wilBual lalasl
Options :
71087052653. 1
71087052654. 2
71087052655. 3
71087052656. 4

Question Number : 145 Question Id : 71087013264 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Name of the father of Qaran is

1. Jugsls

2. gl 0

4. Zinl oglS
Options :
71087052657. 1
71087052658. 2
71087052659. 3
71087052660. 4

Question Id : 71087013259 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension



Read the following passage and answer questions 91 to 95

sy S nitio [ QL%LJLI.‘-MJ' I._S_]_.l| ol ﬂjjﬂrrﬂbj U wglpd 45 ,_'J.|_;.__l_| vwlaz QU.JMJ 32
oliwl g Iy ailuwsl b )b @ilsg p Iy plils 5 gloluiug )3 j553e Dolsm jl Gy a5 il 0awmsS
b lwl ol jl Ul Jlal g yugsls yg3u38 g ez (Sal 218 Grhie gluiielsd 4 bgiye sl
g8l 5l a5 (pgw yinga)ls) g shbs Bl ah)ls glwi aiS Sy=lge aid g glpl g Sytive g ol
Wl S Gl i€ w1 .ye5 Crwsais y2iSal 5l 4 Cuwl GUhls Shls 1 Guni Ll 595 Cruwsis
Wiz 5 gbS &)l gad 55 Wl L GG I oy o Gz, uly Sl Dlegis 1 iy

Crwl 00 0l glS )l gad 5> Guld €ab 5558 ¢ sl g giu g 3283

Sub questions

Question Number : 141 Question Id : 71087013260 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ablls slyls means

1. pgw slyls

2. Jgl slyls

3. y2sS

4. 58,3
Options :
71087052641. 1
71087052642. 2
71087052643. 3
71087052644. 4

Question Number : 142 Question Id : 71087013261 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



94 310 g Jwita> belong to

1. @Sy sublwl jolzal

2. wilig spblwl sl

3. wulyl sublul ol

4. solwl 3y )b polzwl
Options :

71087052645. 1

71087052646. 2

71087052647. 3

71087052648. 4

Question Number : 143 Question Id : 71087013262 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Alexander defeated

1. gl slyl>

2. pg3 ushyls

3. poguw sl
4. Aile>
Options :
71087052649. 1
71087052650. 2
71087052651. 3
71087052652. 4

Question Number : 144 Question Id : 71087013263 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In Shahnameh of Firdousi, there is no reference to

1. wilip olabisl

2. writis = olalasl
3. LS gllgyileys
4. wilBual lalasl
Options :
71087052653. 1
71087052654. 2
71087052655. 3
71087052656. 4

Question Number : 145 Question Id : 71087013264 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Mame of the father of Qaran is

1. Jugsls

2. gl 0

4. Zinl oglS
Options :
71087052657. 1
71087052658. 2
71087052659. 3
71087052660. 4

Sub-Section Number : 3
Sub-Section Id : 710870436
Question Shuffling Allowed : Yes

Question Id : 71087013265 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No



Question Numbers : (146 to 150)
Question Label : Comprehension

Read the following passage and answer questions 96 to 100

33 dﬂ_b_ﬁmpgl_}ﬂ_LUJlk_l_LulrEAJJJ_LLIU_},JJLJ'EJJ.&UBJS'}MJILSJJ_Q}&JMLNDLEUUJ_CUJJMUJJ.&_?l
ol pusdlol isu , abulu gl GB315aLE j1 S U @ ) Ulis lgz 5 381 5¢ Sslo glojils ;|
30 00 Jlw 391> U g 1ol Lis a5 syzdy 00 Jlw 1 JiB Gl hals |, cuwl 83,8 adb (e ol

ol bigy B

5y _Jl :J-I_LJ.JJJ L_guJ_I_JI_Ibch.l [ aiils U'.JL:\_I O Ra5 E_J_:.LI OR g ol g Juas bR rnl_ﬂ.,n:n 9J_E. Jg=y L ol
oS 5T Jb 5 Crawl 0313 Capei slasy &ibl @ |y Gwsh SLall plai aslss S5 1 ls syl 63w
Oldg jgunis juelz Jib Jlw G a5 Cuwd Sy @S Gl s aiwily Gilslw Zai (o jgunie polss

Sub questions

Question Number : 146 Question Id : 71087013266 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Khawja Nizamul Mulk Tusi was killed in

1. slasy

2. 3l

3. diglgi

4, Aibyeuw
Options :
71087052661. 1
71087052662. 2
71087052663. 3



71087052664. 4

Question Number : 147 Question Id : 71087013267 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
sily b S (pla=o passed away

1. sy=t 999 Jlw ;>

2. ygeaie gl jl Jub Jlw Gw 25 iy
3. ULUI_DLUJ I._L::nsﬂ_? E_JH_‘A ]2

4. Spad Sy=d agi )b o

Options :

71087052665. 1

71087052666. 2

71087052667. 3

71087052668. 4

Question Number : 148 Question Id : 71087013268 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Nizami Aruzi Samargandi was attached to

1. $)st Sglo

3. saipe glabasl

4. ol Line))la= )b)yo
Options :
71087052669. 1
71087052670. 2
71087052671. 3
71087052672. 4

Question Number : 149 Question Id : 71087013269 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Nizami Aruzi was not well acquainted with

1. 2,b

2. pgzi

3. ol

4 wuyls ylj
Options :
71087052673. 1
71087052674. 2
71087052675. 3
71087052676. 4

Question Number : 150 Question Id : 71087013270 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Chahar Magala was dedicated to

1. Gilelw 757 1) gunio

2. yweb Slall slas

3. wdgzlw ol Slo

4. e il slw= usdlgl
Options :

71087052677. 1
71087052678. 2
71087052679. 3
71087052680. 4

Question Id : 71087013265 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension



Read the following passage and answer questions 96 to 100

el ol ;_;\.u_;.l_*:r ,Jl.l_:. 'JJ.]_LLLE LJIJI.LLLI' _||_|.J.I 32 U‘-Ij-] ,-J_|I-Li i '-'LILl I._S_).‘El.u.l _JhJ _:.l q 0 3ilai l.jl_?_]J_ gnih
ol uusdladl wisy s bl gl gB3lali 5l b ol @ |y dlie lgz ¢ 391 Syst Solo glojilo i
8.0 00+ Jlw 391> I g Lol Lid ay syzdd Oos Jluw 51 Jub (roliri Tanls ,cawl 03)8 Calli (e ouall

Coawl bagt D)

S9 il sl sou )b bilel g aibly gllai vasus )l oo 5 ool g Juasd )5 plie gle 3529 b el
oS T U o cawl 0315 iy slasy &bl @ |y sweb Slall ol aslgs Ji5 o sl wawl 035w
) gyme wiub il bySy prdeme , b Cuwl 0olisl glail 1iglei jo amsls wl ylo)se Jos lail 4
Doy jgaie puelz Ji5 Jlw w o5 Cuws g 95 Gl s aiwils Gdlelw 7ai (o jgaie polwe

Sub questions

Question Number : 146 Question Id : 71087013266 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Khawja Nizamul Mulk Tusi was killed in

1. sl

2. jlyui

3. gl

4, 3ibyeuw
Options :
71087052661. 1
71087052662. 2
71087052663. 3
71087052664. 4



Question Number : 147 Question Id : 71087013267 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
sily b S (plaxo passed away

1. )=t 9898 Jlw >

2. jguaio guglz jl L8 Jlw w 25 G
3. L]LUI_J:ILUJ L_L,:ugj_? E_JHJ A

4. Spad Sy agi )b )

Options :

71087052665. 1

71087052666. 2

71087052667. 3

71087052668. 4

Question Number : 148 Question Id : 71087013268 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Nizami Aruzi Samargandi was attached to

1. )58 Sela

3. seije glalasl

4. gl liejyls= ;b0
Options :
71087052669. 1
71087052670. 2
71087052671. 3
71087052672. 4

Question Number : 149 Question Id : 71087013269 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Nizami Aruzi was not well acquainted with

1. 2,b

2. py=i

3. ol
4.yl obj
Options :
71087052673. 1
71087052674. 2
71087052675. 3
71087052676. 4

Question Number : 150 Question Id : 71087013270 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Chahar Magala was dedicated to

1. wilolw z5i (1)ganie

2. web Slall slAs

3. wdgzlw ol Slo

4. e ol slw= pusllgl
Options :

71087052677. 1
71087052678. 2
71087052679. 3
71087052680. 4



